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The nineteenth-century moralist’s view on deception was that in general any violation, no
matter how small, of the dictates of one’s conscience was dangerous. The small lie makes room for
the bigger one, which makes room for theft, which makes room for robbery, which makes room for
murder. The rapid descent down the slippery slope starts with a minor infraction. The model may
be flawed-1 know chronic liars who, as far as I know, show no inclination toward progressing to
murder-but certainly the impulse to deceive in order to succeed can become as much a habit as
suspiciousness or greed, and once it has become routine, conscience is no longer an issue. Lying
can become habitual in dealing with others while the moral sense in charge of hindering it
atrophies. The loss of conscience is probably not mourned by anyone who functions without
it, but those who have lost the faculty to tell that it is wrong to harm others, or that deception
is one form of harm, have been deprived of a humanizing feature and have suffered an

impoverishment of their moral life.
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The loss of conscience is probably not mourned by anyone who functions

without it, but those who have lost the faculty to tell that it is wrong to
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harm others, or that deception is one form of harm, have been deprived of a

humanizing feature and have suffered an impoverishment of their moral life.
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The loss of conscience is probably not mourned by anyone who functions without it,
but those who have lost the faculty to tell that it is wrong to harm others, or
that deception is one form of harm, have been deprived of a humanizing

feature and have suffered an impoverishment of their moral life.
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The loss of conscience is probably not mourned by anyone who functions without it,
but those who have lost the faculty to tell that it is wrong to harm others, or that
deception is one form of harm, have been deprived of a humanizing feature

and have suffered an impoverishment of their moral life.
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Who we believe we are is a result of the choices we make about who we want to be
like, and we subsequently demonstrate this_desired likeness to others in various and

often subtle ways.
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Who we believe we are is a result of the choices we make about who we want to
be like, and we subsequently demonstrate this desired likeness to others in

various and often subtle ways.

zebst7| Qi RIHM S 2= ‘Who (we believe) we are’?t (We believe2| SX 012!
A mpetel o~ QL0{of 5tH, AZAE ZEHED CHSHEL| AN = &7 mhef
£ A B CHSHO| of2Het 42 2& 1 CIEX| §Ch= AMME 2ot

Of gfLCt,

We believe who we are is a result of the choices we make about who we want to be
like,

«  Who we believe we are (we believe2| S Ot0jl A FHZ AL El HAPE)

. (that 22 which) we make about who we want to be like (choicesE F=AlsiF= 2 E HEfo|
« who we want to be like (about2| SX0{Z ALSE HALE)
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Who we believe we are is a result of the choices we make about who we want to be
like + [and] we subsequently demonstrate this desired likeness to others in various

and often subtle ways
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The central tension in Keats's poetry is the struggle to reconcile an idealized view of the
world with a rational one. If we were to view Keats as a stereotypical "Romantic," then it would be
easy to claim that Keats comes down firmly on the side of the ideal. But Keats's true genius lies in
his ability to avoid such a simple dichotomy and explore both the romantic nature of Rationalism

and the rational nature of Romanticism.

The central tension in Keats's poetry is the struggle to reconcile an idealized view of the
world with a rational one. If we were to view Keats as a stereotypical "Romantic," then it would
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lies in his ability to avoid such a simple dichotomy and explore both the romantic nature of

Rationalism and the rational nature of Romanticism.
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+ tension is struggle ...
+ it(to claim that Keats comes down firmly on the side of the ideal) would be easy ...

* genius lies ...
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The central tension in Keats's poetry is the struggle to reconcile an idealized view of the
world with a rational one. If we were to view Keats as a stereotypical "Romantic," then it would
be easy to claim that Keats comes down firmly on the side of the ideal. But Keats's true genius
lies in his ability to avoid such a simple dichotomy and explore both the romantic nature of

Rationalism and the rational nature of Romanticism.
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The central tension in Keat’s poetry

the trunal to reconcile an idealized view of the world with a
strungle rational one
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If we were to view Keats as a Idb
stereotypical “Romantic” would be
then
to reconcile an idealized view
the easy of the world with a rational
one
3rd sentence
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Keat’s true genius
in his ability to avoid such a simple dichotomy and explore
i both the romantic nature of Rationalism and the rational
ies nature of Romanticism.
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The central tension in Keats's poetry is the struggle to reconcile an idealized view of the

world with a rational one. If we were to view Keats as a stereotypical "Romantic," then it would

be easy to claim that Keats comes down firmly on the side of the ideal. But Keats's true genius

lies in his ability to avoid such a simple dichotomy and explore both the romantic nature of

Rationalism and the rational nature of Romanticism.
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in Keat’s poetry tension
to reconcile an idealized view of the world
with a rational one struggle
of the world view
with a rational one reconcile
to view Keats as a stereotypical “Romantic” were
as a stereotypical “Romantic” view
to claim that Keats comes
down firmly on the side of
the ideal
on the side of the ideal comes
of the ideal side
in his ability to avoid such a simple dichotomy lies
to avoid such a simple dichotomy ability
(in his ability to) explore both the romantic
nature of Rationalism and the rational nature ability
of Romanticism
of Rationalism nature
of Romanticism nature
1.25%
[ [] E
S4HSAE 888 S4Fo| Tiote 12| ofyX| 94XIT, Ailcomma) S3 22 RS SUsIX o 2
ol AJZHO L ZZtoll fIxISt Mol Hel met2 &X| S O, HO| £5t 2&0| 2EQALL 410 mte}
= O|E7 BtE= flole= ZgelL .
Zo| ZoIE
=ofistu 12



The central tension in Keats's poetry is the struggle to reconcile an idealized view of the
world with a rational one. If we were to view Keats as a stereotypical "Romantic," then it would
be easy to claim that Keats comes down firmly on the side of the ideal. But Keats's true genius
lies in his ability to avoid such a simple dichotomy and explore both the romantic nature of

Rationalism and the rational nature of Romanticism.
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If we were to view Keats as a
stereotypical “Romantic”

that Keats comes down firmly on the
side of the ideal
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The central tension in Keats's poetry is the struggle to reconcile an idealized view of the
world with a rational one. If we were to view Keats as a stereotypical "Romantic," then it would
be easy to claim that Keats comes down firmly on the side of the ideal. But Keats's true genius
lies in his ability to avoid such a simple dichotomy and explore both the romantic nature of

Rationalism and the rational nature of Romanticism.
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to avoid such a simple
dichotomy and (to) explore both
and the romantic nature of ability
Rationalism and the rational
nature of Romanticism

both the romantic nature of
both ... and Rationalism and the rational
nature of Romanticism
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remain — remain [silent]

— [I] remained [silent].
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see — see [the Eiffel Tower]

— [We] saw [the Eiffel Tower].
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tell — tell [me] [the time]

— [He] told [me] [the time].
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o I- | r_HM al AI-E|.|0| :I.l.x" '|Ej|-
5t 2224 (elements of sentence)E 9| s}
2% LHoj|A &0{2t1 X[F §hL|Ct.

0H1—v—

Of(predicate) - 2% LHE 72| MZIHO|X} 22| CHA0| &= SAkverb)E =02t X|ZIFHL|CH

Ho{(object) - =02 ALEE SAZL SES LM, SEQ| CHf0] 2efL|Ch SA2| Yol &=

Jo

x4
=S SHOE X F Lot

«  HoO{(complement) - £0{Z AIEE SAZ HENE ESISICIH, O HEIF (7] IohA |2l AEl
Bt LQFHL|CL Hoj= AEfQt 2t El MOl EE HSEHLIC

+  Z0{(subject) - E(HE AHBE SAZL SEE ESiotE, MEIE

QEILICE FOE 202 AFEE SAIC| F=HE EeiU= JE
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HOf= 2012 East Ul x| 2FQ40| THOZ PAS USO| L OFF EBMQI 2 (48) 74 WAIS
He5hD UALICE 0l 20fo] FH0|22, BE 20| LRFLICH BH0jet Hojo| TR SR OfF 5
A7 S0{2 AL EIRLtol nf2hh 2 ELICH 2E HEE A0 Hol=|of LT SAl| usageS
27[5k3 QLofor & Z{st ojqlLict

[Cl] £0{2 AMEE SA0 HE =

Birds fly.

She became an actor.
He watched the movie.
He told me the time.

EY A SHOIL HOE ER 2 sH=X[Q| 018 = AMO| Hol=l siE SAH EH=ES HOotHH & 4 &L
Ch &, AFH2 ‘0] SAIZE XXQ Z2 Q0|2 E&S et uf, YYR Z2 Wiloz AIZs52h= HeE B
UL

AMFL BX0E QR 5t= SAIE ‘EFSAF 2 ‘transitive verb’2t11 E7| &iL|Ct SH0E ERZ 5K
Ot ZAL= ‘RFSAP £2 ‘intransitive verb’2t 1 E7| ELICH SAIE 7|8 = o|O|Qt Amzlnt Q| X|
2, s o|ojof| s ste SAIe| &8 T2 H0iF = sample sentenceE PHEA| 84 QIYFEE 70|
CFEMQ. O3 524 20 28 2H0 = X3 SZ 5t= £ CHA0|7| = §huCt.

fly= SE0{LI 20{ gi0| X}l o|D|Tto 2k 2 El o|0|E EH sFELIC M2k, ‘Birds fly.’Qt 22 Ao
2 22 Ut F4E £ ALt
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watchLt tell2 S%2| tha0| &= %’5101%
LICE tell2 ‘~OlA| ~= E5iChe| Qojz AM8E W =

15| X| 42 ‘F(phrase)’7t SHEOZ
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ol SAI7H 2X0jot EXEHOE 275H: A
g ol &8 &|7| mf2L|CH Hl Z7EX|] SAtL
oL} Hoje] =M —|E|J_ =0{9|
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£0{2t3 XIFEL . 2 CHEA ELIthE S35 H0iE = U2
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=02 AL El SAte| 2|0] 2hgut 2750 Jol= LA 71| E8e4 =8 iiBS #85t AIELICH Ol
4 7P<I EYea = B4 22 08| 2S0T 2| 44 E0|7| = i

(1) 01 + 20

02 AIZE SAE SX0{2t Hof EQ glo] £0] Atalap F0{of Zettto = Xtilo| MEY WES e +

o|¢L||:|._

AAH

[0ll] Folet £0l= FHEE EF

I go.

I dream.

She speaks.

The sun rises.

Robins fly.

A monster appeared.

SiLte| SAL7E 0] 7HX| QJO| 2 ALE &= <7t SRILICE Zeist 007 |X[2t, 20| 7} HatX|H SAte| &8
e, &, SX0jLt Hojo| Rk HHEL|CH O|E S0{A, appear?t ‘= 20| O 252 S2{LICEH LIEHLIC
(to be or come in sight)’2| 2|0|Z AEE M= ‘A monster appeared.’?t 20| SX{0{L} H0{E ZQ=2
SIX| 2X|2H seem?| 2|0|, &, ‘~XZ EO|CHto have an outward aspect)’2| 2|0|Z AI2E U= ‘She
appears happy.’?t 20| H0{E @75t AFME FX| A|Z o7t QUELICE 210k o™ = HoE &
QE o1, OH M HOE HRE 5tX| Y= SALE A == X|2F 242 YIstX|gt, BEXR} ofX| Rt
88 %S £ U= 220|Lt =22 0j2] AotE 2 JUSLICE 0] Bol|A siY 2|0/2| sample sentenceE 5t

OO 6= T M —

LHA BEEA| 7|3 Fet= Al0] =S THA| B 1 FOIM SHAS2| SAL &8 530 22Xz e E=5
710|E aliF= Aol EUSLICE 2=, 210 sh50| THoje| &7|RE 29| 7[2t=s ‘A7 Sl otad ==
Sfofl @iX[2h OOt B RS V| A= flS AYLICH 2 E76t0, 28 192 M0 == &
=2 AMEE SAte| ERQt usageE A7|5HA| Bf=bts A2 FOf SHE SHA| gZlct= “Med’0fl THE OfL|=t
= Y= XMSRH 2G5 slilE 27t ASLICH ARt Eof 5o A7|5H= Shg ol Cieh 22t 0
20 STe 289 siM R 227 e AIRHEOEHE FHol F2E 27t ASLIC.

7ol cHREZo| EHHMo|M ‘22| 5 @AP0|2k= E0{E AHE ®iLIL]. & 7HX| SO 22| 5 F40l2t=
802 MROF | 4= 20| ug SXY R[St EE EHLICH A &, 22| 5 PA0|2t= 0= HE

(simple sentence), &&(compound sentence), S &(complex sentence) 2 EF(compound-complex
sentence)2 2 T4 El sentence typeO|2t= 802t =52 YOZ £ JUSLICL = M, SAIe| &8 & 0|
2te 8017t 22| HE 740| SAte| 2|0l E 2Hdsl= WA O|F0ZICt= HE TS YESHH BZAIZ
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(2) 0 + £0{ + Hof
S0 2 AEEl SAIVt MEl(state)2 E8 St2 2, MEfE H#i5t= x|HQ HEE BO{7t M|Z2sHoF §hu|Ct.

[6il] =01, &0 & 2o{2 P ME 2%

I am a student.
The defendant appears frightened.
His mother seems young.

I feel nervous.

zo| HOIE
O A0 EH0{7} EE313=0{0f 5h= AE{ 2t XA QI HETF 2oi017t0f| =5 A|7{0f §hL|Ct, TJ2joF &
ool 2R H2 MalstA EELITtL.
EXN SALAEIE AR ST = HOE 2R 2 5= 0|[E MTHEY| QI5iA 0| SAte| o|O|7}t @F
A= 22 AT 2 2t JAELICE

Iam

L}= 2oi0|C}... OfZl 29| LHE0| =2|™Mo = 2t E|X| &

=~

2 SEHILICE.

LS

am what?

‘L7t A2’ els 220 5| LiE = 5ol eiSLITE OlFl 2 YEE Y F0{0F gLt

I am a student.

e

W7t =ehs A FEIF HAMAM amO| Eoishs YRt Y =ASLICH
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I am a student.
The defendant appears frightened.
His mother seems young.

I feel nervous.

(3) 01 + =0{ + Z=0f

£0|12 A El SAZ} SEf(action)2 EBIst1, S22 B= chelel SE0{7} A0{0F SAS| 2|O0|7t 2HYEL
Ct.

[ol] F0f, €0 A SHOE FHE =8

I read a book.

Tom broke the cup.
Birds lay eggs.

I married Mike.

They discussed the problem.

Ed SAVL S| thd0| = SHUE ERZ Sh= OlRfE &2 fIsiAM 0| SAte| o|n|7t 2ty ==
HgE & 2 2t AL

Iread ...

Lt= AUCE....OFE 22| 80| =2|Xe= 2 E|X| 52 JEfRILICt

LS

read what?

Fois aAE?El=E BE0| Y5 LIS &= whofl YELIT O|F 3 HEE xR F0{0F gLt

ol2 CHaQl ‘RS of 2t M7t MMM read?t ESsH=E HE7t 2440] £[}ELICE
ofzffe] EE0IM =0 E ALEEl SAFSO| CHoAM = 22t 22 reasoning 22 SaliM SHOE 20| 2=
St= O|RE HHE &+ JUSLICE

=afstm 23



Tom broke the cup.
Birds lay eggs.
I married Mike.

They discussed the problem.

SX0E HQZ 5= SAts SES ZHELL oM #Ysts SEI GooIM #EsHs SHO| LHE
= AUCHE "2 O E aste PSS 222 7= LI oIS S0, “ZCk(fly) = 2l0[2] SAE 2
2|2 2FHN L= %’%*’QE OlﬁHéa* - c»’A'XI':.'J, GOl ‘Li= SEI'2 QIABITHE 49| Xt0|FHO| ZEAiL|Ct.
=
=

= d 2l

do =0[7|= SLICh FofollM Felsttl=, T2 ARHolAM
Li7te. oz 22[2e| 27F0l|A O|35HA] FE=F 7H0[= SiFA|

SAtet liiY SAE #35HE 2o ZAE Nz olafe +~ A=E HHFHFAM L.

olo o

o
2 5| 7t chedof| siEsh=s S0k Zgfsof 1 ofn| 7t 2

Jojsici2 OlsfsHe 20| SALICH Hojo
=

Q. EsH 202 ALEE

OIS SOIA MChats ©|0je| breakis =2
N8 % YaLict

(4) 301 + 0] + 20| + TFY2H0|

0|2 A8 SAPL SEE H®Estn, F 712 SX0{7t 0o{oF 1 2|0|7t 2tME= ARULICH
Mo 2 ZHY =X 0](indirect object)0ll= S2r2| CHAO| &[= AFRHO| fIXISt1, 2T F X 0{(direct object)
ole SEe| chaol == AHZ0| IXIBLICH

[6l]] Z=0f, 0] Y £ J{e| EXo|z M= 25

They gave the students information.
He told me his idea.
I showed him my picture.

James offered me a job.

Ed SALE He SHOE 2R 2 5t OIRE 2HEY| ?I6iM 0|F SAIQ| 2[0|7} 2Hd k| = nHys &
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2[Ho= Y |X| §i2 JEfRILICE ‘“=FoAH FAS FULP
o)

o|0|§ =2|MeZ HdsliE 4 USLICH
gave what?

TS FU=H? whatol] i st= HEIEFIt 2| gavel| tidof tish HE = MU LT

gave to whom?

=70|A FARA=E? whomofl Chet YEE 71 5101 to whomoi| CHEH HHE 2Hd 3j30{0F BiLLCH.

They gave the students information.

FAUE, “FHUA FA=710] et HEI} T AR M give?t Eiists YEIt 2HE0| EASLIC,

offie] ZE0IM £0{2 AMEE SAIS0| ChSM T 212t 22 reasoning 1S SdiA F 72| SEHE =Z0|

He told me his idea.
I showed him my picture.

James offered me a job.

UEEH0 = TR Zote|of XA} 2|2, Z82 F0] + &0
Ho| S, 20z AHEE SAMo| w2t 2ot = A= H
s

SilA= 3 ZoilM TX|AF0 2tet Y S o 20| AEsliF= A0l EELITE

(6) =0 + €01 + SH0| + 20f

S0{Z AIRE SAH 2H0{9} 202 D5 LR sHe ARLULITE 71=AQl U JHx| HE T B X0/ 1
0{Z: THEIQIE], SX0{et HOf AfO|ojji= 2|nJ4t F0{-20{ B, £ F0i-(being) HO| 27} ARSI H=
Sz Hoi FLtt

[o] 01, £01, SZ0] ¥ Ho|2 FHE =F

Students elected Ann president.
They consider her trustworthy.

I proved him wrong.
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Audiences found the play delightful.

Jane left the window open.

0§77| mj2of 0|n] 913t | 7| THE o|lo|E EE0| LRt Of
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He showed the drawings.
I saw the accident.

I gave Jack the keys.

I find him honest.

£0|E SHCZ AF0|= F0, 22|12 £0] C}20= =02 AHEE SAVE 2Fst= FH 0 Hof7t {IX[5

Hot SH0ojet 20 ZE7F 28 £ AL, 22 F 702 M7 =& £ = ERe| o=0:

2
Hu
>

182 4 9ls BHol FF, 22|13 240j2t £4rka0f|
=
L

o2t oY B2 #d5k=

Mo

F0{-&0f

F0{2t 201 Ztofl= $=2| YR|7t X|FAXOF &tL|CHsubject-predicate number agreement).

- 20{-H0f
S0|E AFBE SAPZEAHQ| 0| 2 A|7|7| /5101 27tst= 20| ZFO| M2t HO{E AL &= E
ole| ZF(UA 2 #8AN7t 2H FLCt

- =0-==0

S0|2 ABE SAPERRAC| 0| 2 A|7|7| fI8t01 27st= 2|0| ZFRO| w2tA SX0e| M=l &

Ej(Eto] =2 Lt ")7t Z2F ELICH

ZHBHOIS HAAIRE BHS0] F0| - 20 - AYSHOPR 74T SHS UE 4 YALICH 0] 1f 24
SEof o|njy REsH MAIARL 2B El0f MAAFTI} E|D, 241012 J|5 Bk,

0= MEE SAZL AR OIS 2HEAI7|7] 2/510 275H= LI SR M2t Hojo| EH = ol el
7t 29 £, SH0{eF 20{= ofn|d ‘0] - 20’ 2HIE S EeLILt.
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[Gll] F0iet &0f Zte] 2] 2K

The computer is expensive.
Houses need repairs.

Z012| ~(number)2t =20{2| =& LYX|A|F{ FO{OF BILICE F0{7} Thax(singular)2t™ £0{2| Lk EtpT} &
OO BfL|Ct.

[¢il] 20{ofl wpE 20{2o| CiLet 2R el AHEl

This soup tastes fantastic.
This fabric feels good.

feel, taste, smell, look, sound?} Z2 SAtE HEAE HO{Z F[&L|CL.

[¢il] 0{ofl t}E SXojof Creket X Q1 HEl

He bought a book.
He admitted stealing the money.

My son avoided answering my question.

The girl stopped crying.
We planned to visit Denmark.

Tina hopes to become an engineer.

Zo| ZoIlE
SAH B0E SHOIZ to SHAITILE SYATE 275t HS0| YALICHL B2, BALS SHO|Z Fote 5
NES UALICE 01 SAIE FAL| CEAE Sx0|2 2 4 /9, 8% tiele] i8S S=ol2 3ot

32 to SFAITLE SYMTE SH0IR 25t HLYLICE to
= Abeisol HEo[X|el, BE 2wsolN HalaiM 27H5tD
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$0
|0
|O
A
el
=)
QO
(%2}
o
=
oL
mjo
=
Ho
ol
=2
rir
o

mn ox o
HT

=afstm 28



O EHANM= ‘SH0’ o] SFet &AM A2 5t 2AAE LIES F'E 271 mf XM[5| dliF== 240] 0O
o

[¢ll] =00l HE Crefet SX0]-L20{2] 2| I 2o{2| HEl

She named the dog Molly.
The jury found him guilty.

Harry let me use his phone.

I had the mechanic repair my car.
He smelled something burning.

We heard a gun fired.
Zo| mole
=0{7t SX0{2t HO{E 7HX|= SAH &8 TR} 2FEM= (1) SHO SHE0 RFE 275H= SAM2 T
F % (2 SER0{e ¥Eel, 12|10 (3) SHo{et SXE0| Ato|2] ‘BN’ HAHIE 2OF FO0{0F §HLICY.

LEHOZ FH0{Qt X 0] Ato|ol| 2|0]& Fojet &0 2AI7t QlCh= Holl FFAIZ 227t J=Hl, Ol= F
HEOO| ESAH7E 2 M, ZSMTF2| HHE FE5h= 7IE2= AELICh £, =02 MEE SAHB0=
Chedh AL FBAME SHENZ 75ts ZR% ASLICEH 02 AIZE SAM| ME SHE0 9| YEl=
25 27| thiyo| ElCh= Hoi| F=A|7|1, 2[AES W2 2ol M HSo=0{0F BiLICH SHE0E ESA
Tt RE 2= 3 YoM ESAFE N W siF= 20| E2SLICH
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Key Concept 1.’

Key Concept 2. ‘2t

02| 7H'd

=012 £0{= AL E SAI2| 20|
O{(complete predicate)O|2t 2ELIC}.

LIx| 52, =
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EY0IM F0f

He laughed.

He was popular.

This orange tastes bad.

He attempted the task.
I made you coffee.

Jack believed George honest.
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Jack believed George honest.

He laughed.

He was popular.

This orange tastes bad.

He attempted the task.

I made you coffee.

He asked Bill to help Jim.
Learning French is easy.

Her hobby is collecting stamps.
Most people avoid telling lies.

ofo| Helet ZELCE,

Of EHA[0IM
Of A0l M
L|Ct F0

A1

31

KiMIet L2 M| 2 Zoil A CHRA| ElLct.

He asked Bill to help Jim.
Learning French is easy.

ol



Her hobby is collecting stamps.
Most people avoid telling lies.

FAHLE ESAFL| X7 EYE FJ5h= | 20 deigts ME YEsh AMsHESE 710|= 5h=
20| ZQELCE ‘FESATE 222 E2 #xE J1Eitk = Hof| 28t eHS2| OISHE &7 flstiM 2 =S
AMFE B YEiZ H3ciM HoiF= A s YHYLIT

He asked Bill to help Jim. — [5-°]] help him. — Bill helped Jim.
(2I0]&) Fofet ARl YEE
= fC

ESAITE ML 22t 22 YElZ HYsH 1 g i ESAFE 7 |
El = Hth ZRE X EX5)

LIS
H2[alZ010F & WS =T a7l FLICh 2|04 Fojeh AN 2XlE 2
Sli= CHAOI7|= Bt O[] BHallALE Al B ollA T2 CHEs| ElLich,

m|
=1

Learning French is easy. — [5-°]] learn French. — We learn French.

Her hobby is collecting stamps. — [5°1] collect stamps. — She collects stamps.

Most people avoid telling lies. — [5=°1] tell lies. = Most people tell lies.

He asked Bill to help Jim. (to %73 A1)
Learning French is easy. (5% A1)

Her hobby is collecting stamps. (5 A1)
Most people avoid telling lies. (8 AF)

(0] SR EHE PHE $0| 1

He asked Bill to help Jim.
Learning French is easy.

Her hobby is collecting stamps.
Most people avoid telling lies.
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He asked Bill to help Jim. (2 7}})

Learning French is easy. (2 7l|)

Her hobby is collecting stamps. (2 7)
Most people avoid telling lies. (2 7))
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Key Concept 1. =24l0{2| 2oy

Key Concept 2. =A0{E &&&! uff X|70f & 4]
Key Concept 3. 4! 72| mfet

£2410{(modifien)E 0|85 22400 EE FIIIZ2M 2Kz EF0

T - = L.
O E2 UE8S HEY = AULE diF= YHYULICE F 7K BO| A ELC

[¢ll] =207t E¥a0 XFHOZE It YHE NS L4

We rose instantly.
We cheered loudly.
The beautiful Mary greeted the guests.

We rose instantly.
We cheered loudly.
The beautiful Mary greeted the guests.

instantly= 2012l roseE, loudly= £0{2l cheeredE, 12|11 beautiful2 {2l MaryE #HEHC=E MY
ote YEHE F7 féH—’F—ﬂ %%LIEL

(2) £41017} EE CH2 £40{0]l £7} HEE HT3tD, 1A F718 et 23Ho2 By 0 MY &=
Tat 4 UBLICL ZIEOR E CH2 S40j0] o8t FBES O FIHE 4
_7;<_

T 4 ABLICHAAO - £40] —» 2HRA),
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The group was entering a particularly dangerous area.
Extremely sharp hatchets cleared a path remarkably fast.

The least courageous member yelled shockingly loudly.

Very watchful explorers choose their paths extremely carefully.
Alarmingly thick bushes blocked the path.

The group was entering a particularly dangerous area.

[particularly = dangerous] — area

particularly= dangerousti| 7%l HHE H|Zst U1, 0| YHE 22 dangerouse areall|l F7F HE
E F1 l&LCt. sMIE0A ‘dangerous area’@t ‘particularly dangerous area’@| HE x}0|E H| Wi
EE siFML.

Extremely sharp hatchets cleared a path remarkably fast.

[extremely — sharp] — hatchets

extremely?Z} sharpOfl F7t 2 E =1 1, O|FA HMEE FENX| hatchesol| M= JASLICE

The least courageous member yelled shockingly loudly.

[least = courageous] = member
[shockingly — loudly] — yelled

Very watchful explorers choose their paths extremely carefully.

[very — watchful] = explorers
[extremely — carefully] = choose

Alarmingly thick bushes blocked the path.

[alarmingly — thick] — bushes
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(1) BHEA] 8t £HoQl A &0(head)7t ZX5H= HEHOIA A0S AFESHOF SfLICE

+Al0{(modifier)= BHEA] SAICHAO0{7} Ql= AEHOMTE ALZE 4 QUSLICE O] i Z2H Q! fAICHA = St
CHo{Ql 2HARQILICt Dangling modifier error= $ACH&0{7} Ql= 4107t 2&0| Z&tEl 42E K&
ol
H

Everyone was seated comfortably.
An adventurous teenager climbs steep mountains.

Enthusiastic people attended the recent event.

Everyone was seated comfortably.

comfortably= £012| seated0fl F7t HEE MF35t0{ O LES #H|8t s }SLICEH

An adventurous teenager climbs steep mountains.

adventuroust= F0{2l teenagerE, steep2 FE0{2! mountains0i| 7t FEE XSt QUELICE.

Enthusiastic people attended the recent event.

enthusiastic2 F0{2l peopled|, recent= =X0{2l event0| 7t MEE NS5t JUSLIC

[ofl] =2l &o{7t =xistX| 27| mj20i| dangling modifier error7t 'L 45t A2

Hungry, the pizza was devoured.

Inexperienced, the task seemed difficult.
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3 oM E=SATE OHE £0]| dangling modifierE CHE A2 225t HEHLICt

ZOHcomma)Z 22| £|0 22| AIZF B2 =2 & 220 2X|Et BA (participle phrase)= E&2| F0{
E &4 siELICE o[2{sh A #tA|o| A2 E&e| F0{7| J2ist 2AI0l| ZEHEl £012| ‘0 HES ol =
O{OF $tCH= Hof| UELICE

Hungry, the pizza was devoured.
2t0l| beingO| A2Fel HEHQ| EAIRQILICHbeingR 2 A%} E|= EAT= beingS a6t A2 EdI5H= %0

20l b
LR L|C. MY TE L.

(Being) hungry, the pizza was devoured.

[ |
=y

o =0{2l the pizzaZt =E2|XM 22 ‘was hungry’ & == 12EE, being hungry2| AL &0{7+ ZEXH5}
X| &= dangling modifier error?t 243t SLICt CH22t 22 A/ 2 HEL0{3=0{0f BiL|C},

Hungry, I devoured the pizza.

(I= being hungry?| F=H|7t & = JAELICH

Inexperienced, the task seemed difficult.

the task”} being inexperienced & &= §1&LICE M2kA, Ceat 20| =Fsi3=0{0F &fL|Ct.

Inexperienced, I felt the task difficult.

(2) A0 AL 0] HEZ H(HEZ 2O|Lt HEZ F)ofl 2{X|HOF FL|Tt.

St mtetet = AUEE 5f7| IFULICHE, Sl X|20= ol218t }ES X|9|XI g% % &S0| &5t I ot &
O Att= = FF0| FOORASLICE 28, #RE 40 AHSHYLICE

I
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]
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Mario suddenly hit the brakes.
I finally finished my report.

Mario suddenly hit the brakes.
I finally finished my report.

Ttofo] HAE =0{2] oM It YEE MSsta ASLICE Of2iet 20| 9IX|7}F B ofn|7t HEfEICH=
Ak £ &elo] st

> o

Jane found a man’s gold watch.(O)

Jane found a gold man’s watch.(X)

& x| 2= goldZt mandi| 7t HEE M= AWM OlsiE = U= 2H7F LdefLict

407t &= EHof O|&e| ALt B2 2, #40= A0 HZ Fof| /IX[5t= 20| &Z{L(CHpost-

modification).

[¢il] ==2l017t s=AlCh&o] HEZ F ol #IXI5H= B¢

The soccer player moved quickly.
The house which is red is at the end of the street.

2| 2EF0||A quickly= movedd| 7t HE
UAELICE M2t AEICHZEHH Of2Het 20| YoM =4l5H= Al

The soccer player quickly moved.
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2IZ|c2e}9 812 21o| Z2X2 moved 20l quicklyE $IXIAIZIE 20| 2|8 moved CHEO| 2AlTHA0]
7h ZXISHR| 247 W20l movedBHE +-AIHECHS AMMES RS SECH: SHOIN 2F|  §I2 He 2
e SHLC

The house which is red is at the end of the street.

A ZE Q! which is red?| HIZ 2| houselll £7t HHE H|Sst JYESLICH =M E HHEHSIR?

Which is red the house is at the end of the street.

3 olahEt 4= Gl 20| Z(o{H{2| 0 TASLICEH $£210{2] |X|= O|ZH ZSLELICH ESH & THof 0] 49|
TAI07 AT A0] F|of| 2|X[5HOf ot Ol R HatsHA ofalig = US AW ALICEH
=afstm 39
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Campers collected and buried leftovers.
We make our bed, eat breakfast and feed the dog.

Campers collected and buried leftovers.

qn
=
10
19
@
>

07t andoi| 2[sHM HEFAZZ AZL[USLIC.

Campers collected leftovers. + Campers buried leftovers.

HXATS] R0l = LA = HYO[X|2, 2tXs 207t HEZ 2= f (FHHl ZBS fISHA)

HES MeFsiChe Mol F=o|5ofF HLict. 2| HE XM collected®t buried= leftoversE 2Kt
o=z

0Kl

40
rn

L=}

=
0

We make our bed, eat breakfast and feed the dog.

M| 7He| 2tFEt 202! make our bed, eat breakfast2 feed the dog0| HEZ HZAE|N UELICE M| 7HL
XSt 201= WeE FOE ZFSt1 JUSLICH

[C] HRTEE of2 Jho| 2012 2R ZaiAIZ B2

Parks have tables and benches.
Did you drink juice or cola?

Animals eat plants or meat.

Parks have tables and benches.

=02l have?| SX0{2 tables? benches?} &2 Y1 £|0] USL|CE

Did you drink juice or cola?

drink2| X019l juice®} colaZt orE AtE3510{ HEZ 1A £|0f YSLICE
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[o] HETEE 0f2] JHe| HOIS Bl ZBAIZ B

Cartoons can be funny and meaningful.

Teddy Roosevelt was a strong president and a memorable public figure.

Cartoons can be funny and meaningful.

Teddy Roosevelt was a strong president and a memorable public figure.

be2| 20{Q! funny2t meaningful0| MEZ o1Z £|0f YELICEH

[O] WETEE of2f He| 241012 2R ZEAIZI B0t 22te| SAICHAO]

This book contains romantic, soothing and enjoyable poems.

The soldiers approached the enemy camp slowly and silently.

This book contains romantic, soothing and enjoyable poems.

romantic, soothing, enjoyable0| and2| =22 H0tA HEHZE HAZAL[0 poemsE 45t UELICH T
U O Ml 7He| HEAIE HWHEAZXE ARSI L2 M2 ¢1ZASIH mis-placed modifier errorS 351 &
L|CH SR st §t 71X| 0|R®0[7|= BiLICH

The soldiers approached the enemy camp slowly and silently.

slowly@} silently?} £0{2! approached0l 7} 2 E X35t JUELICE
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Hi=d (o] T Xe)

2 WEAZO| mief |

ol et SUBH BT 24LE £A0{7t 2|AE HENZ LIYE|E 20|22 CFS M 7HX| EFo| HE &2
RS 28 N WHTEE mots £+ oLt

XI2t 2| AE 8% ol WAt
. EWEOI I} 22 B|AE B

[oil]

oxtol| EaHEl Cfkst SEfjo| W1 xo) WiE g2

To

Letters and packages were delivered.

Money and hope vanished.

Campers collected and buried leftovers.
We make our bed, eat breakfast and feed the dog.

This book contains romantic, soothing and enjoyable poems.

The soldiers approached the enemy camp slowly and silently.

Letters and packages were delivered. ("4 Al 0] + A} F07)
Money and hope vanished. (8 A} =01 + A} 570])

Campers collected and buried leftovers. (&7 3+ <o] + A3 &o] g Fx o] F

)

We make our bed, eat breakfast and feed the dog. (&3 3t <0 + 73 &
1)

Parks have tables and benches. (B A} 52 o] + HA} &7 o)

Did you drink juice or cola? ("8 Al 52 o] + WA} &4 o)

This book contains romantic, soothing and enjoyable poems. (3 &A} 2o +
B AL 20] + B AL Ao)
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The soldiers approached the enemy camp slowly and silently. (F-A} 2] o] + F-A}

2] 0l)

HITZO| e EY2 T30 20| Felg o~ ASLICH EfH Y &M g2 P=E e = U5

LT},

, =SALE HO| HE 2 AZE 40| Ot JiX| 2 &

H
27152 o9 5t= 22 ER ESAtTL S5E0| A= AZ &|0foF LICE

3. Ml 7H o&e| ciatol HE E mjoll= H&AL O|Me| CidES HOIE 22| siELICHromantic, soothing

and enjoyable poems). &AL Q0= HOME F&= 20| FEIQULICHRL Mekst= A7t SefL|Ct §1E
2 2%Yot7 7t0|= SHFMI2.
24 O|x
2.4.3 WUzl AHA 2l |
HEH F=0M SSE FE2 A HAY &5 0|F0l|= Mefot= Ao=2 EoisV|E LICt MetE 222 nielst
X| RotH, WHE =0| 7|& mtetnt siMol| EX|7t L dEL|ct

Hu
re
X
n
2
30
rir

| 222 izl ofaflet 20| kXSt =019l collected leftovers®t buried leftovers?t &
7

, LHBSHH H35H7| fIsiM SSE leftoversE 20l XIS HE CHY oM = HEFiFASLICE

Campers collected leftovers and buried leftovers.

— Campers collected and buried leftovers.
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Jon
o>

Z=H|

Key Concept 1. 8 ZAI2| Rt 7|s

Key Concept 2. EHQAZ &8 £l H| 7

Key Concept 3. #4012 &8 &= Ho BF
A
T

Key Concept 4.

Key Concept 5. MX[AIQ| 7|&

Key Concept 6. H&AL| 7|s

2.5.1 8 EAtQ| 74

doj= 28 —_rlcﬁfEHI A8e == = o5 7HX| ER2| TS Folsta /U=, 0| 8 &Akeight parts
1

JH'I

_|0|I

SAverb)= “SE7O|Lt “HE"2| o|0|E HHBILILE. EF 2A0ME= £0i(predicate)2 AHE [0 2HEE
S0{E e 0 OfL[2t, WEIE HYAIAH Ciefet EHEQl B (ESAIFMAM2] £0)= &&0] & 2F

= o= — L

YAKnoun)= Ar21} AFRE2| O|F S RIESHL, 22| M2t £of EXHSHE IHE
0| 0|E0| 20{ =|of A=

off ALZELICE O] Mol ZXH3t= 2 Noll= 222 4, 21 0|& 0 stigst= 2ol
YARILICE A= £0E MQst 2E B8R4, F, F0|, SH0|, H0{= MEE £ = SAtLICH

i A (pronoun)= YA CHAO) AFZEILICEH X[AICHEAL, QIECHHAL THACHHEAL S CHASH 82 AL

El= 0] ZF| CHHAIS Z&EL|CH

g2l (adjective)2t FAHadverb)= $=2l0{(modifienZ 7|5 E“—IEL “FAISICPE 9|0|= 4

CH&boll =7t HETLH|E 22 2l0[RILICH S 8AtRt BAls

E8Al= WAL S 2 CHYALO| F7HEQl HEE MSe = 1, BAL= b

HEE MSELICE &A= 41017t OfLl, BO{(EHQA)EE AFZE = JUELICH

Hx|M(preposition):= 2tZt9| 1178t 20| E ZHX[L(OE =9, in2 ¢ c.’_HHI,’ byE ~ ?—ioﬂ’ ég ‘~0l| 2

siA’2h= 2[0|E ZHELICH, QAL CHEAL 52 HA

M (prepositonal phrase)E THELICH X[AIE 2 LA A 52 2APL 'é.“é%fé 401 o
|:|

SHBILICE FRIA BAP & 4 Q= Ye glom,

i
[l
=
C o
rir
. M
©
>
=
oY)
[0}
SP,
u
[
[y}
[
77}
SP,
II&"
_O'ﬂ
o
-l
ra
>

oQk
jlu)
I
N

EA| MX|AT (prepositional phrase)&EHE
AX|AFOI| CHSH 2 Tt 2X|7F EH| =7

2 mlo
>
oo
m
2
k=]
o
r
n
o
r
o
10
H1J
_>.'.
%)
02
)
N
my
rlo
r>|

H& A conjunction)= £ 7l O|AQ| EHO{L} FL(phrase)E AZsHFAHLE, H(BE otof]| Z&tEl 2XHE 2

—
HEMOoZ M =2 clauseZt ! X|HFLICHE THEE= A2 +-ELICE THE(simple sentence)2 21Z& 5t
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2
I
g
rek
og
2

o| £ C} o 2% (types of sentences)E Pt=71Lt, WX (parallel structure =

parallelism)S 2= =0 & ELICt 53], FIle| thysS HEx= U= &5t & HEAME

=2 L—1 —J

i

==
ST

ox rlo
re
124]
I

Al(correlative conjunction)O|2t X|&EL|Ct,

CHOLICH S5 AME Eli= ZEtALS] QOIS V(=

i
4]
roh

5t

oM
rir

FEAK(interjection)= Z{EF2| 2[0|
QI laL|ch

A H

e

YAL A8AL RAE B8 B, 7 22 Ho| BEYst= 7I15S XHS=E

Al 71943l =0{OF gL Ct.

0R0

2 AR §|7|E SiCh= MR HIE

SAk(verb)e £0{Z ALSE|M, WAKnoun), EH"AKpronoun)2 F0{, FX0] 52 Bo{2 AEE 2 SLICH
£AO 2 A2 £|= d&8AHadjective)= EHZE AF2E £ USLIC

[C] E22AE A8 El= SAL, YAL LiEAL H FEAL

The student ran.

The test was easy.

The author wrote the book.
The dog gave his owner a bone.

The boy painted his hockey sticks blue.

go| ZoIE

SMEE 2d UM 5EE + = 7|s0| tE0ts gt 2824 & £40] 722 2o thofe] ZAE

H“:AI 2 91010F sttt Ho| BesiA| ME £[0f0F LT 53] 2824l +40{2M2| 7|5 met3 2lsl
2L

H 27|51 F0{0F SHt= FE 22300 & CHAIL
IJl(suf'fix)% @EI?_F S|AEE FA|L, ¥7ISHES 710|E o=

WA/CHHAL — F0f At - 20f YACHHAYHEAL - H0|  HAYHHAL - 20f
student ran
test was easy
author wrote book
dog gave owner bone
boy painted hockey sticks blue
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2.5.2.2 20| = ALE E|= ARt FAL

AR #AHadverb)= $A0{2 ALE ELICE #8A= QAL 2 tHYAO| 710l HEE H|Sol=0], £
L= k=2 =}

t
AE SAL F8AL 22 BAf F7HHel FEE MISlFE 7|sS HER LI

[Cl] =402 AL E|= F8ARt FAL

She has a beautiful voice.
Your work is quite good.

My grandfather was an extraordinary man.

Lo ZOIE

She has a beautiful voice.

My grandfather was an extraordinary man.

Your work is quite good.
TAO7H A E[H, fACY0, & F7H HEE F= a4 247F BEEOELICE (1) 409 Dt 5
QX2 10 X Al (2) SAlcHat0{e] mret, 12|10 (3) SHME ISHM ‘210 + 2AcjdoP YRl I8
s QLT
8= GAILE CHHAL| F7t YEE & = UELICL beautiful2 voicesE AaiF 10 =0, =4 2AHE
SaliAM ‘OtECH2 =A2l2h= 20|17t BHEE0RSLICE = B 282 extraordinary= manol| F7 HEHE
AL, A HAE S ‘=5 HAbEh= 2|0|7 RS FELICH
A= SAL @8AL E2 CIE BA0| FIH FEE & = JUSLICL 0|2 20| BARI quite= goodo|
7t EE F0, ‘01 £270|2k= 9|0|E 2HE1 AUSLICH
2510 eV Z 30| FEAR RAIZ B 7|5 & U= HO|ST} Ell= FAO[X[2H &A= 7|55t
= HHO1S2 FE[siM Y7ISHES 710|= SiFA|L, F-8AL B2 RAIE ZtE= of0|(suffix)E FE[EHFHR. &
At RE2 2E, LIOZIM 2840t £4|0{9] FE0|= =20| EL|Ct
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]
El

SAL - ACHEA} - BALRE A=
=0{E e

SA - @8AL 202 A8 El= SAt=
S - BAL S0Z AL £l SMeE R

YAL - CHEAL: CHEAL= ol fIXISH E

=012 FO{7t & = AFLICE E o, SHOLE 207} [0

= YEBAIE E0{Z &0t etEst 501 - eiLLCt.
Afofl elsM sAS 2L T,

AL ol AR ElLICt. 2ol 2IXISH HAKantecedent)7} €1

Ol M EHEAL= AHE E &= Gl 20| JZULICE CHEAZ} T @Al Ol R ILIC.

EAL - BANLHYAL: FEAH= At

rr

HAb - SAYEBAYEAL BALS SAL HBA

HX|AF - BA/CHBAL HX M= 2
HX|ALT HEHZ 7| S3HOF LTt

22 fIAIS 248

Jjon
ro
4I
=
i
4>
1=
ok
4>
30
o>
T
Iul

LHOIM 22 7|SE 4 1o, BIEA| AL 22 CHHEAIR} Z

HEAL HEAE T 71 02| HOIE ¢ siELICE

ohE3H

—
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2.6 £0{7} M|Z5H0} 5t= £t e

LR

Key Concept 1. =017t A[A|, Eff, 'H FHE HS3HOF St= O|R®

3

Il
Jon
o>

=13=5[e]
[N=E

i
EH

&5t

2la|

—

Key Concept 2. £0{7t 780l &2

rr

2.6.1 £0{7} HtEA| M| 25l0f 5l= HE |

0|2 AIZE SALSEP E2 ‘dEli’el Q0|8 HE st2=, Chat 22 FE7F £0{0f ofshM &H HE &
OfoFat efLCt.

(1) Alxl(tense)

Azt 2 E HE ) & 02| SE0| WMSiALL MEHE X|&st= AI-t #HE HHE 2012 SolilM 8
EILICH o2 S0 M S M(present), 2t7(past), Ol2l(future) ST+ 22 Eh& AlH|(basic tense) HE 7t 0|0
SHergtL|Ct.

(2) MzZtel Zol(aspect)

AR 2R E HEULICHRE, AlZE 2t2510{ 2017 Z3i5h= Q0|7 M E AlZhe| Zojeh 2 E YEE X|F

ghL|Ct. ZI3 A|X|(progressive tense) & 2tZ A|H|(perfect tense)= AlZte| Z0| 2 HEQIL|CY,

(3) ¥(mood)

m
|.|-|

>
2

i
ofm
oII
I=l:|
rok
ot
-
_lj_
Jﬁ
?
a
(@]
8
<
[0}
3
O
@]
9,
rIr
ruTl
H
rr
=
oo
o
o
Jo
rlo

wolatn galet 3
ol

o St A
715\'2 "l'LI-I_I-% T AX

=P +0|71I_} _°_|-'?--E-?:!% HESEHL|CE, subjunctlve mood= H %EIE LiE0| 7t
(possibility)0[Lt 22 (wishes) &2 7 (hypothesis)oll 7|8tE & AS LIEFHALICEH 7FSH(0IE S0A, If
| were a president, | wouldn’t put up with it.)2 subjunctive mood2| gt o QJL|Ct. H2iH
mood)= H&(command)?| 2|0|& FH§hL|Ct.

H(imperative

(4) El(Voice)
017} £0{0f| 2 HEEiEl= SEC| FH|QIX|, CHIX|E 712 siELICt SSEl(active voice)e FO7t &
09| S2F FH|AUS EFEILICt. £ZEl(passive voice)= FO{7t SEto| iAlels ESIEiL|CE.

[oll] EH

She saved my life.
My life was saved by her.
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2i5h= SAof tidel FHZE R0 X2|off fIXIE &= U
O

She saved my life.

‘She’7| ‘saved’?| FH|7t HELICt sSEH(active voice)E E8 E|}SLIC

My life was saved by her.

aved’'2 ¥ E[USLICE

sa
AR F0{= HX|AZ HH O] saved’E TAEFE A0 A S A5t ASLIT

C2e| YEE =0{0f 2lsiA| =& ELICH
(5) &(number)o]| 25t HE

F0{9| 0] 25t HEHE NS ELICE MEtA, 02t £0{2] £ X|(subject-predicate number
agreement)A|7{ =0{OF &HL|Ct,

2.6.2 £0{7| YtEA] H|Sslof e MEE =5i5t= ol 22|
2.6.2.1 A|He| =3

Of7 ghah E& sf{of
A7| W2 LT,

>
08
2 o

[Cll] SAt2] HEHE HE AMF[7{L} CHE SA2] E2S B TAo] AlZE ZA| Y

I play the poker game.
I played the poker game.
I will play the poker game.

I
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I eat an apple every day.
I ate an apple yesterday.

I play the poker game.
I played the poker game.
I will play the poker game.

& SAHregular verb)7t 202 AISEl HARULICL SAY| -edE £20|= A2 IHE FAISHT JEL
Ct.

I eat an apple every day.
I ate an apple yesterday.

£ SAkirregular verb, eat - ate - eaten)0| 20| 2 AtEEl ARIL|CH EFE|0{0F & A7t HEO|| S=
ol2| Yol SAt HEHE AtEsHF1 JASLICH

I will play the poker game.

D2 AIRI= EAte] HENS @ CHE BrAlo= #3A|7|7| BCHs CFE SAkwill Z2 shall)2l £22 WOt E
Bt wAlo = X2|sfLict,

AlZhat 2t E YHOll= ‘AZke| Zol(aspect) = =& ELICE 0= Aol AIZHEl SEO| AlLE= T 015,
o

7| SE 22 MEf7F SRRt 7HK| = AN T AlZte] ZOo| 2HEollA E8 ELICH 2t& AlH|(perfect tense)
L} ZI¥ AlH|(continuous & progressive tense)= aspect & 2| A|ZH HEQIL|C}

[6ll] aspect?] Z3 Al

I play the poker game.
I am playing the poker game.
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I eat an apple every day.

I have eaten an apple for 5 months.

I play the poker game.
I am playing the poker game.

I eat an apple every day.

I have eaten an apple for 5 months.

-

AlZE ZAIE 215101 0|0] =02 A8 &l SAte| HEHE e AMZ7| WZ0 aspectE E35IH SAte| HEHE
= =
= =

A O Z HYSIH L, CHE SAte] =22 Loofet = &2l MotA| = ASLICE

g o o =
O|0|E LIEt = SAtE ~ing "ElZ HAH5H= AAIQLICH 22 Aol YHo =z 22 AlM|= havel| =25 &

1 20|12 ABE SAte| ¥E

O -

Joj= F 7IXIE ZeloiA EBish= SAIE AL BiLIC TS BE35H7| 2I5iM be SME AFE5tR,
H | A
o

rr
e
T
0k
|0
Hu
]
N
rr
1=
I
Hu
ro
HU
=
=
muln
FH
>
ok
-
o

Of i, 2t =2t hadE AMESHE 422 B8 F= ML

oo

JEfof AlZH HE2| XI0|E EfSLICt.

0= Ef 3 ot 2tAHE HEE FSisF0(0F fLICh SE S2 el 2 HETHE) S2 i 2R /IS
g0t ofL 2L, 270| MEE M L8 S =07t THot7| IE0|7|= BiLICH CHE SAte =22 ¥, =02
AEE SAte| HENE HEYSI0 S 5t &Hl 38 &[0{oF & AlZt HHeF S ¢l0| B El= WS AEE
L|c}.

[oil] EH2t ol =3

I am bothered by that noises.

If I knew her name, I would tell you.

I am bothered by that noises.

If I knew her name, I would tell you.
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Evidence shows changes.
Evidence shows big changes.
Cold winds blowed nosily.

Winds blowed.



28 127t SEEXE 0|/E 280 ZetEl= YHO| &(F2 20| Mt L2 ot Y=o A= =
B3 E A0 7+S3IET PE0FT| ff6iM 2E0T o EY 3 2to| 2| 2™ 25 SHOF LTt

Evidence shows changes.

242 HH Bt 0r20| SLCt SCiX| 22 evidence?l x|, 12|11 OfHH BIZISQIX|E T & 4= Q7| mf
SQILICE. evidencelt change®t 2 E fA|M Ol HEVL L esith= =248 dotA BhELCt

Evidence shows big changes.

bigO|2t= 21017t AFE E[0{A changes?| §t 7IX| 40| 7t E|IELICH AL #Hstatn §HL|CE, 5K
ot XX Z o™ evidence®! X|, 22|11 BtV 2oiQlX|of| oM = & dheio] @i, JeA BHEst Ot
2 o{™EtLCt.

Winds blowed.

=2
H
ol
>
iz
a
rx

sz QUSLICH O HEEHRIX|, J2| 10 HEZ0] oA 2=

Cold winds blowed nosily
cold2t= A SallM Xt7H2 HEEHO[2t= HIERe| £ 8t 7HX|= & = | =IASLIC
THO] THR(2] =2101Q1 AL A AL85t0] 2R Fo| A YEHE FIM6HE = JUSLICH 51X
o & O AH&el HEE MSsHoF SHoH, BHo] BHelof 4]0 2 HO{SE Yo st HExoz 2%
o 4= AELIC 32 Qo= & CHE YHS 235101 E80| 2Qeh RtEo It YEE NSd = U=
WY S FH|sF12 ASLICH

3.1.2 Jlet B &8st Z& EE 57t 'L4{2f 0|5)

3.1.2.1 7o} Ho| Mo|

T {phrase)2t H(clause)oll CHe HFxQI oIS or0ts TR} LIt 5 7H 0l4e| Etof §22 72t x|
F5t1, 12 2ne| Y Zate Fojet &oi7t EatE 232 Mol2tn Xsict
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[oll] Ct&et 72| EF - YA, SAHL, ESAHL, HXAR

Mary’s laugh

These new lasagna recipe can feed an enormous crowd.

Your best option is to tell the truth.

Riding a bicycle is good exercise.

The first aircraft carrying people rose into the air in November of 1783.

You will plant the vegetables after lunch.

FlolM XiM[EH BEE 51| 2 A0|E=, 7ot Bl BES A7Msh= A2 4 0fXl= A0| EXELICL §
5| Jlet A M= ESAITE MRIA F 71X R0 F=HEF sliF5, 0|0 Chapter 201 A 4715t Hiot
Z0 t= Mg £0{E HYS JEet= HE ZXFHR

Mary’s laugh

YA (noun phrase)LICt BHAIR HALE f2Al5H= £=A10{0]| 2|aiA DS EILICE YAt 2= 80 ECh=
24 2A|0] oS M PSR = $A0-FACHM0 2AZ EEE RT5t= AO0| sH&500 FE|ELICE.

These new lasagna recipe can feed an enormous crowd.

SAYULICE FA| SAHEtE B0{EH= 0|2 Hi= A0| sk FHOM RE2[SfLT

Your best option is to tell the truth.

to 28 AL (to infinitive phrase)ILICt 2tH5t =012 £0{0] toE 20iM CtELICE 2HRA =
7|s &Lt

ro

YA

Riding a bicycle is good exercise.

SHAtT(gerund) phraseILICH XS £0{2| =20{0]| ~ing=2 E0{A DHSLICH SEQAZ0 AIEE £ Q)
&LICh

0

The first aircraft carrying people rose into the air in November of 1783.
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M3 (participle phrase)ILICt. 2t £0{0]| EZ &=
L|C}. HEZ ¥ol SIXISt HALLL CHHALE S=Alot= 410

E
ra
Rall
N>
2
E
fol
[0
2
0%
>
HJIHJ
|]:0II

M X|AL (prepositional phrase)&! FAIZAM OHSL|CH ®MX|AFR7F & ct
o olatez ZoE £ A=, Ol= I.JIIMQF EE*?_F YAILE CHHALS —1‘—&!3}% M7 ZEHE £ A7 IHE
ULICt, XA SOHA = HEAE AL E[= A x QELICH T CHS0| FO{t £0{7F 2CHH, HEALZ T 6)
EE J10|E siFAM L.

rH

ol

L Ho| 55 - (S

[oll] Cret =,

0P

AT, A, YBAE, PAY

Folktales are always popular and you have probably heard many of them.
George often composes music for poems that he likes.

As soon as the guest of honor arrives, the award ceremony will begin.

.S |

M A

FlollM XiMlet BEE 5t 2 20|22, &AL O CE0| fIXIsts F0 + 209 #1=H Y

3 Mg S
(clause)'2Hs BOI9 B1ZIAI7|= SR ATH5ts 0| SHBLICE

dm
fjo

Folktales are always popular and you have probably heard many of them.

and£ = 72| tHE(simple sentence)’t Y12 =0 5 7H2| CiSE(independent clause)’t XA 2201 28
E|ASLICE

George often composes music for poems that he likes.

ZAHCHYAL thatofl 2|siA F=HE(main clause)lll Z&&|=, &, FE2| EX YAHpoems)E A5t 2HAH
(relative clause)?t &t £|0f Q= 2EIL|CH

As soon as the guest of honor arrives, the award ceremony will begin.

1=
= 5“%" oE= %%’.S%At'— 01I52| 10] FHO| %01% FARILICH SEFSAR D2 RE DHE0X|
KK | (o]
T = AN



3.1.2.2 £:40f, WBAZ U 79} Ho| TElo] FHUS SIIAITIE YAlo| of3)

ol

Ir

Joj= Aot HEHAX &8 0|20, F 71 O|Ate| EHO{E StLte| ofO| FROZE 7|5 5teE
(phrase)2t E(clause)S EER24A 22 FAE AIBECZ M 2H0| MEE = U= HEH
= WHE S5t ELICE

o
30

>

(o]
[

=
=

00 I
mo m
mr

TYLAE FY5h= THo{7t L = OiF| 2|3, 2F 2Ee40 EE FIEiFE 2410 5 Hojo|A Lt
E= oid| =0y, 0|52 BEYZ= 9o ZF0| HEE & U= YEY2 Srhs} |Lict

& 2GR XHAe| Heof w2t 0| WS Zgtoll M AtEotA| LIt 2atx o2 F&e| o7} s0{Lt
A =)

- (=] To—
Tt ESREX|= S| 2 5t £[0] EFS OlalaHOF Sh= AMZH0| o ZS 24 ElLICt.

Evidence shows changes.
Evidence shows big changes.

Evidence that is found in rocks shows changes in the earth.

I like the movies.

I like the movies that make me laugh, that make me cry, and that make me think.

Evidence shows changes.
Evidence shows big changes.

Evidence that is found in rocks shows changes in the earth.

Io
gob
rr
4r|
T
0
ic]
ng
]

Iruﬂl
(o]

‘changes’of| big0|2t= WAV} H|Zst= F7H&Ql HEDEE Zelstn QU i 2
2 A1 - MX|AE E2510] ‘Evidence’@ ‘change’S TA|E} Al7| 1 &L 2
evidence?} X| L0l M YO{t changesE H0{ £Lt= AlOZ 0fR XM AQ HHE HSst=
& AYUL|C

I like the movies.

I like the movies that make me laugh, that make me cry, and that make me
think.
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ESATLL S o

Y Yo FEE ST + ASE 20[ELCt.
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ZLICL Ol= ZSAt7e Zo| 2tHst =0 =&ttt 6t &

[ LY <)

HoHol ZSALTLL O] HIh 8 2% Bige| WEYS HEE 4 9
2 EI9IZ 0 3h FAIS FRE 2017 HRAULICE Lt 2 =2|XoR YA siie| 2R OE WY

=k ASLICH

[¢ll] ESMT7L HS5H=E YHo| &

Mike is planning to buy a new bike.

My hardest task in the morning is finding my car keys.

Mike is planning to buy a new bike.

‘Mike is planning something.'0|2ts 2&0|A somethingS to buy a new bikeZ CHHIZCID £ 4~ &
L|Ct. ‘Mike is planning something.’0| & 2&0|11, to buy a new bike= ‘Mike is buying a new bike.
= HEA|IAM H2iet %EQI-IEf 23, to AT E st 20|15 Zefel of 2% FEo| HHE, ARo|
%3t Mike is planning ~0f| |2 A1, O|FH to REAIRLE MEE =M ¢t 28 o
X

=) XA
HEHYUS MSote FSHAHE 7HE %IE =S o= 5= A B AYLIC
My hardest task in the morning is finding my car keys.

L ox}

‘My hardest task in the morning is something.’0|2H= E&0llA somethingZ finding my car keys2

CHA| RHCtn 2 %lél—lflf E53| finding my car keys= ‘I find my car keys.’2 HEEA|F{A MZtst 4= Q&

LICE 2=, SYARE 2T 28 "ol HEE, XH4I0]| £8F My hardest task in the

morning is ~Ofl M35t ME% o= 17| SYARLE ASEo =M §F 22 Yo HHAYS MBSt
|

£ HOE 71 + = 22 S £ U & ALich

le>
I
e
ot
Q'I_l
r°I'

2l & 230l Zetel ESATE "= el 20{F= 2ol M ESAtT0l ZetEl £0{2f ‘2|0j e F0{'2} ‘Al
M XM2|= oA sHok == ARA7I72ks RE0| RAIAAZA LA ELC), &t 28 Fo| YHE st =
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3.2 HX|AM2] Of5H

Al St

Il
Jon
o>

A

Key Concept 1. MX[AIC] 2N
Key Concept 2. "X|AS| &
Key Concept 3. MX|AtFQ| 7|5

Key Concept 4. MX|AHS| S HX

3.2.1 x| TX 2 el o} uhy
3.2.1.1 MX|AFLS| &

HXAE 28 UOIM 22 7|58 4= HELITL BEA| AL 22 CHEARR 281510 HX|A+ (prepositional
phrase)E O|E HEN0IM 7|SE = JASLILE TXIAMF = 7|2H2 2 ‘HX[AL + AL 22 IYAP HEHZ 7Y
gLt

[Gil] TX|AtLe| F2=

We will plant the vegetables after lunch.
The team performed the experiments with great care.

You win this game by popping five balloons.

We will plant the vegetables after lunch.

after7t WALR! lunch®t Z§l5101 after lunchets FX|AFLZ SHE R SL|CE

The flowers beside the oak tree need water.

besideZ WAl the oak tree?t Z2&510{ beside the oak tree2t= FX|AL7 SHSO{ A &L CE.

You win this game by popping five balloons.

by7t WAL 95HE £3l5H= SHALT popping five balloons@t Z$H5t04 by popping five balloonsgt= &
X[AFZ} BHSOIRISLICE

=afstm 62



3.2.1.2 MX|AM2| el oot S

HX|AteL Zefst Ak

AL 5
A pes loloz ags

ro
[m|

HEAL= £A0E 712 & JASLICH Ol= TXIAMFE Z2A
T TX|AFE] MelE ChE2l 2hdE SatiA B = ASLILH.

=

(3) TXIAtRL ZEtEl BALLL CHHALE FIOIAM =A5h= a2l0]2] OFX|8f SHO7EX|7H HX|ALF 2| M| YLt

[Gil] TXIALTLS] &

We will plant the vegetables after lunch.

The flowers beside the oak tree need water.

The team performed the experiments with great care.

The governor is appointed by the president on the advice of the Prime Minister.

You win this game by popping five balloons.

We will plant the vegetables after lunch.

after@t Zgtst= lunchs 410 g10] MX|ALRL Agt SIUSLICE WEkA, MX|A= afterfE lunch7kX|
L|C}.

The flowers beside the oak tree need water.

beside2t Z&lst= the oak tree= 240 Q10| MX|AIRL gt SHASLICE [MEkA, MX|A = beside the
oak tree®L|C}.

The team performed the experiments with great care.

withet Zelst= care= greatgh= 41012 2t E|0] RJSLICEH MEtA, HX|ALE with great careILICE

The governor is appointed by the president on the advice of the Prime

Minister.

=afstm 63



M| 7He| HX|At(by the president, on the advice, of the Prime Minister)7} Z&t 2|0 QIELICE byet &
$t5H= the president= $=A10 90| FX|ALR} ZEH SHRZSLICE WEHM, MX|AFLE by the presidentlL|Ct.
on2 XAl of the Prime Minister0i| 2|si{A ~Al=|11 QIEL|CE }2kA on the advice of the Prime
Minister?t 5tLte| Lzt MX|AILE O|F 10 QUELICE

You win this game by popping five balloons.

by= SHARQ! popping five balloons@t Zg} 51 &LICE. W2EM, by popping five balloonsZt 5H-t2)
I-|x|A|-__rl.E O|—|—_|_ }V\ L—l[:l'

3.2.2 ™x[AM2] 7|5 mfef U

-

HXAFE 2T LHOIM @EAL =22 BAML| 7|52 +
== A= BA/BAT XA FEALZ 7155h= &

(HXIA7E RALZ 7|55ts ER)E 2F EYdloF she STR0| ASLICH Lo, sArhe (head) HE -r|
off AXISHA| = 27t EStEZ, HRIAtT 2 F0f| fIx|et THo{Sof Cist A0 OfRE 20| X &2
OfOF gL|Ct.

[oll] Hx[AIL] 4] 715 R 0| KHE sACido]

We will plant the vegetables after lunch.

The flowers beside the oak tree need water.

The team performed the experiments with great care.

The governor is appointed by the president on the advice of the Prime Minister.

You win this game by popping five balloons.

We will plant the vegetables after lunch.

Ut after lunch HEZ 2F0f| |X|st = £H0{Q] vegetables?t plantdi| CHHA] $=AICHAI] O{EE HE &L
Ct. plant ... after lunch?| AZ0| LiE4&F M EILICE 2t after luncheE £ E A2 El SAt plantE ¢

AISHZD QICHD ek 4 QI

The flowers beside the oak tree need water.
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L|C}, 2}

S X|+20](post-modifier)2! XA HIZ ol 2|X[St, 7Hs8t £AC A0 = flowers B0l S1&
M, beside the oak tree= flowersE $AloilF 10 QUCED HHERSE 4~ QUEL|CH
HE AE $h

The team performed the experiments with great care.
UCH with great care HtZ 2F0]| 2|XI8F experiments@t performedi| CHaHA] £=AICHAH0] O
ghetL|Ct. watA, with great care= performedS

A A
So T

preteh 4~ ELICH

C}. performed ... with great care2| ¢1Z0| Ly
The governor is appointed by the president on the advice of the Prime

437D QUctD

S1Z=1 QA&LICE of the Prime Minister= HIZ 2toj|
HX|AL onzt At

Minister.
by the president= HEZ 2t Ql= appointedE 44!
U= adviceES $Al81F 1 U1, of the Prime Minister0f| 2|3l A £=A18t7 9= advice=
5l0{ on the advice2t= MX[AFRE /st JELICE [2tA on the advice of the Prime Minister=
appointedE A5l IOt THEreh o~ UELICE
You win this game by popping five balloons.
AL 40| O{RE AE §fL|CL

fLICE. 2tA, by popping five balloons= win

UCH by popping five balloons HIZ 2tol 2|8t gamet winofl CH3iA
84 Xt

win ... by popping five balloons2| 1Z0]| Ly
g ASFD QIotD EHEESE &~ QIEL|C

oFst FE|ALTL

[oll] ZHE=Z o2t Zelsto] BHS0{Z Cisl
They donated the museum money.

They donated money to the museum.

She teaches us history.
She teaches history to us.

I brought her some cookies.
I brought some cookies for her

I asked him a favor.
I asked a favor of him.

Ssistm
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EHo 2 El SAHO]|

2t CtEE 2 YHEA| @F7 |5 5=0{0F §HL|Ct

They donated the museum money. (S + P + 10 + DO)

They donated money to the museum. (S + P + O, donated & 2] dl =1L Yt}

She teaches us history. (S + P + 10 + DO)

She teaches history to us. (S + P + O, teachesE 23l =1 A FU T

I brought her some cookies. (S + P + I0 + DO)

I brought some cookies for her. (S + P + O, broughtE 2] & 1 &4 th

I asked him a favor. (S + P + 10 + DO)

I asked a favor of him. (S + P + O, favor= 28 F1 54Ut

3.2.3 MX|A2 B AZ

0421 7H2| TX|AFF7L A0} !|XISH= L7t E8tH|, W 7 Z0i| fIX|EH TRIALRE] BEZ 0]F2] FX|ALL0]
Zot |0 A= AL 2 CHBAE 10 F= A9 =4 2IE d510] HHH2Z 0421 2] FX[AM7} ¢

=

=
2 & SiLte| MRIAMFE FIRLITE FXA7E MR|AMFE Zetsh= FEfo|7] MEo S xets S
ERSLICE. 0121 7He| HXIALT7L O[O fIX| SHEELE BIEA| S F&2E 0|FE= A2 OtL2ts Ex Lot
F0{O0F BfLCt.

n

[o] HXIALRS| SH 7

Elderly criminals in Florida sometimes lead the police on chases at speeds of 10

to 15 mph.

‘to 15 mph’= HIZ 20| 2|X[8t of 10 MRS 102 AT E AL 7|52
of 10 to 15 mph& stLte] HX|AIE O|ELICE. of 10 to 15 mphi HIE 240l )}
| speedsE AT Y2 HZ at speeds of 10 to 15 mphke stLt2| MX|AIFLE O|FA| ELICE at
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speeds of 10 to 15 mph& HEZ 2H0f|
10 to 15 mphi Z{Ct2t MX[ARE
FACte MRIAMAE FMotal =0, 01
speeds of 10 to 15 mph& tLt2| 74

A= on chases?| chasesE 4|5t2 &, on chases at speeds of

TABILICE 0|2t 20| 1| Hel MM SHEI0] HHHOR siLtel

XA SHEE| A EICt E86H ARQILICE on chases at
Cl2t MR Z 7|5 5101 policeE A5t QUELICE
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3.3 E3AH+12] 0|5H

LR

Key Concept 1. &AL Axet 28 AX2| XI0|H

3

Il
Jon
o>

Key Concept 2. EFAIHS| B2

o
>
41
10
=
N

-

Key Concept 3. &

Z=SAPE 2FSE £20{(complete predicate) TXE I 2510 HEHZRILICE Mgt £0{0]| Z&H=
£0{9| HElE MZ CHEH| HES to 2B AML(to infinitive phrase), YAl (gerund phrase) 2 2AH
(participle phrase)’t &&At10]| =& EL|C.

[6ll] to S ™AL

Your best option is to tell the truth.
Mike is planning to buy a new bike.

Your best option is to tell the truth.

2tHTE =202 ‘tell the truth’ 0]l to7t XM to tell the truth7t to E-HAF 7t E[R/}ESLICE.

Mike is planning to buy a new bike.

2HHsE 20121 ‘buy a new bike’ 20|l to7t E0{A to buy a new bike?} to B A7} E|RELICE.

[ol] SEAH

Riding a bicycle is terrific exercise.

You win this game by popping five balloons.
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Riding a bicycle is terrific exercise.

st 20121 ‘ride a bicycle’?] 202! rideE ~ing @22 HYNA SHAITQ! riding a bicycleO| ZHE0]

You win this game by popping five balloons.

LEF5 20191 ‘pop five balloons’2| £0{2l popS ~ing H2 2 HEGHA SHALTL! popping five
balloons7} StE{F&LIC

[Cil] 2A

The first aircraft carrying people rose into the air in November of 1783.
That aircraft was a basket lifted by a balloon.
The balloon, constructed by the Montgolfier brothers, was filled with hot air.

Zo| ZoIE

EAI FER0|NM o] FXIA|FHOF S B2 YA HeE dllste 2AM7E XRO| AT = CiakS 2|o|d
70|12 AH=CH= MULICE 0[2{3H o|OjAt F:0] - £O|(2Ah BH 7} 2AFTY| &0 HEHE S5(~ing HEH) B2
TS(pp FEH2Z ZFEILICE

The first aircraft carrying people rose into the air in November of 1783.

aircraft’t carry 5t= 20|22, 2bHst 2021 ‘carry people’2| £0{2l carryE ~ing Y22 HISHA 2At
T2l carrying people0| ZHEO{ R &L|Ct,

That aircraft was a basket lifted by a balloon.

basketO| lifted =|0{0F SIEE, +=S& Q! ‘lifted by a ballon’ YEIZ EAFE 2

'

SLCt,

The balloon, constructed by the Montgolfier brothers, was filled with hot air.

ballon2 ZHS0{X{0F 5t2 2, £S89l ‘constructed by the Montgolfier brothers’ HEZ 2AITE F4M
=
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3.3.2 =SArt2| E | ool U

ESAIE 2 £0{(complete predicate) == 2 &35101 HENHX|EZ, Zt ESAIIt AIRES
L= HEE FEfe] £0{FE XS 2018 745t OFX|9 CHO{77HX|E Z2SAS HRIZ HE = US
L|C}.

[Cll] ESAtTte] &l mtet

To buy a bike was a wise decision.

To buy a secondhand bike was a wise decision.

I was sorry to hear the news.

I was sorry to hear that your father is ill.

Tara’s mistake is serving the volleyball too quickly.
Knowing that he was being followed gave Roger the creeps.

Believing in progress does not mean believing that any progress has yet been made.

ZSAITT} s 2042
Aol Hels BHE 4 9
240t 241012 TiolsLl= Bt DTl Y3
Qa2 0lxA Fic.

ZSAITE TSI BFQAL 24017 L E HEfY F2, Wel Tjolo] 02122 7S 4 UCHs HE ¥

Fof| =11 50| O|F0{X0F LT},

To buy a bike was a wise decision.

To buy a secondhand bike was a wise decision.

= S 270 to EH™ATLE bikeEt= 2X 07} secondhandets $£AIHE Zahstn QUELICE W2k, O
Ot to BEAIRL| HR|7t s0{%tELICE
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I was sorry to hear the news.

I was sorry to hear that your father is ill.

7| 9I5HM that
INEEEIN

+

a1 He| F B 2H0M = O X7t OtZAICH = FRIKl 24 HEE RF HES)
HE to FHAIL £0{Q hear?| 0|z FJSLICH A S 2D H|wsiM 3 2HF to

=
T 202, to BEATS 2= SESMSLICE

4

Tara’s mistake is serving the volleyball too quickly.

serving2 $AISHFE £ 7H2] B At too quickly(too —quickly = serving)7t Z&HEl bFSH £0{7} HE &
SHATLICE

Knowing that he was being followed gave Roger the creeps.

|5t

SYARE g5t ASLICH

b
rr

Know?Z} that 22 SX0|Z2

Believing in progress does not mean believing that any progress has yet been

made.

believeZt 715t 2TEH £0{7t MXAFAE A2 Z&stn QELICH SHAE ALSEl SHA QoA
that HO| believel| SX0{Z AtE E[ASLICE

to FEAT SYAT AR
2L ts ts
2|0 (HEAl) ’ts ts
20{(F Al ts

Ct2el THAIE XM 2t ESAIL| 7|5S miefe = AUSLIM.

(1) to £™-AIR2| 7|s nfet

I
=IOI=
]
El
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£35] ot2fe] SAHE2 to FYMTFE SHO = 275H= A0
He A- 2HRAR M8 =R =X 6{FE Y5 mtefet=0 ==0| ELTh.

(1-1) to AT E FHOZ 235H= SA

choose, decide, expect, forget, hate, hope, intend, learn, like, love, mean, plan, prefer,

remember, want, agree, refuse, promise

They decided to start a business together.

(1-2) to 2HARE HOE 275H= A

advise, ask, force, encourage, invite, order, persuade, remind, tell, warn, expect, intend, want,

allow

She reminded me to turn the lights out.

He encouraged his friends to vote for him.

(1-3) It ~ to ™ALL HEYE FISIXIT, to FHARIL HH| FO|2 J|S5I=5

difficult, easy, possible, impossible, hard, right, wrong, kind, nice, clever, silly, foolish

It was difficult for us to hear what she was saying.

It is easy for you to criticize other people.

[HSA 2180l £4012 J|55Hs A2 0% Tl

I
=IOI=
]
El

Jtow

B2, 02 3liE SAILHAIE &

rir
02

e
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3. £0{7t 275z 2ERATHCF HAMCIH, to FFAE HEZ 2H0]| QIX|SH BA/YEAME =4I51=X]2| 0f
FE SolgfLich =, HtZ 20l| ?IXIet BAL 22 CHEAR to FFAIL| 20| S ZlsiM 402 7|s
St=X|e| O1RE £(F elgfLCt

ol

5], otzHol| &

£ s %i*f%% Xpalof o|ojE #AIst 57| IsHA to EEATL| =415 HRE Sh= WALS0|7]
& gfLict ek, to £

|
A2 S5 LI

r

o2
JE
TS

rir

RN

(1-4) to FEAIL0| 2l M (Z51AH]) 4] &t
ability, desire, need, wish, attempt, failure, opportunity, chance, intention

I have no desire to be rich.
They gave him an opportunity to escape.

She was annoyed by her failure to answer the question correctly.

[SAF ofgte] 241012 Jlis5ts R|2| 0f% Thel]

3. 2017t 275t BY2A7 T HAKCH, to LHAITI} B 0| O|0|S EHSIRIN 20I8 $AFHX
52 to SHAT M1 S0l 21 HBALI SALE ASHERIS] OS2 AelELC

£3|, oi2fel AEAS2 to BT 2lsiA (E5HH) =A== AYLICH Hi= CHS0f| IRt to FZA|
CH5H0] =AlCH&0f-=Al0f A mfefsh=H| ==0| ELIT.

Iz

s B |

———

(1-5) to BHALRT} (Z31A) $A8HFE HEA
disappointed, glad, sad, happy, anxious, pleased, surprised, proud, unhappy

We were happy to come to the end of our journey. (reason)

able, unable, due, eager, keen, likely, unlikely, ready, prepared, unwilling, willing

Unfortunately, I was unable to work for over a week.

[0l]] to £FAte| 715 Tt}

=ofistn 73



To change this tire will take twenty minutes.

It will now be impossible to get home by midnight.
They decided to start a business together.

He asked me to read it before I sign it.

Band members announced their decision to tour again.

Eager fans competed to buy tickets to the show.

To change this tire will take twenty minutes.

1. to 2FAIRE utetgti|ct.
2. &=0{: will take
3. 2ZX0{: minutes

to 2™ ALFQ! To change this tiree FOE AE E|QIELICE.

It will now be impossible to get home by midnight.

1. to BHAIRE utetgii|ct,
FO: It

=0: will be

o@D

HO{: impossible

to get home by midnightO| Z=O{ILIC}. impossible ME0 7tFU 2 it7} AHZE It ~ to E™YALT FEHQ|

2oz I E[YSLICE

They decided to start a business together.

1. to SYAAE mefsfLct.

2. F04: They
£0{: decided
ssjatn
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to start a business together= decided?| SM0{Z AtE E[QIELICE

He asked me to read it before I sign it.

1. to EHAIRE metstL|ct,
ZF0{: He
£=0{: asked

SX0: me

R

=012l asked, 12|11 =X0{Ql me2} to read it before | sign it2| 7|7t 2|0|AH F0{Q} £0{Q! A=

M to read it before | sign it2 SHENHE AL E|AUSS Let = AUSLICHask7t FH0{2F SXHEHOE 2

Sati

T Q7%= SA0|1, SHEOZ to FHATE 7IEICh= SAtS| 8¥E 02| LotF= A to BYAITL| 7|

| -
S =
= 270l Zg =|0{0F SiCh= ™S CHA| & ¥ S E 7t JAFLIOH.

Band members announced their decision to tour again.

1. to B™EAILRE TpdgiL|C,
Z01{: Band members

A

£0{: announced

W D

Z2X0: their decision

announced’| 27t= B4 = BF 28 E|0] /= HEILICE LiE4 to tour againO| decisionS =

AstiFn AL

Eager fans competed to buy tickets to the show.

1. to £EAIAE mhetgtiL|Ct,
2. F0{: fans

3. £0{: competed

ofof| =20| =l MM HEULICH 2= ‘202 MEE SMIH 2F5H=MHE SHOLE 20{7F £ HE|

75



competedE SHO0{LI EHE Q75X b= SARILICE 6t to buy tickets to the show= S&2| 2|0|E
7IX|2 competedE FASIELI= AR S EQIE = JUSLICEH Mt to BEA = 2AIR| 7|52 ™5t

0I¢|__||:I-.

A H

(2) SYAL| 7|s mhet

2 SO H|O] Q= 20| 1, 2EHQAZ 7|58 = U= A0 STALT #0|

XO0|Z @75t 20|22, 2012 SE SATAIZ EIYETIE 2ol

admit, like, hate, start, avoid, suggest, enjoy, dislike, begin, finish

You can get fit by swimming regularly.

[ol] SBAIS 715

Jogging tires me quickly.
Hearing that joke reminds me of a funny story.
My least favorite chore has always been washing windows.

Jill enjoyed staying with Liz.
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=012l tires 20| 0| AHE & o A= SYAFT EXELICE U2HM, SBATL joggingO| 02 ALS
o4 b
AN

=012l reminds 20|

=
e
7} 70| 9E2 Yestn

|IOI'
I
Il
=
]
X
Ol
=
>
-+
ro
>
(0]
Q
=
=}
«Q
—
>0
Q
-
©
=
(0]

Of A&2 & 4 Q= SHALRO EXYE
(o]
AN

2. Z0{: chore
3. &0: has been

be SAtE EO{E 7H& & =4, LHE4 washing windows7t E0{ &2 5t ISS & 4 JUSLICE
etz Tgsdn HefA SUstEE BEA| 28| LIRS UhX HOloF &t FX|A|70F EiL|Ct 2HE HElN
OE0HIEY HiE= S#0| BHEUX|X| R=E 2HE0t 710| =7 2FtL|Cf,

Jill enjoyed staying with Liz.

o

YA E mhofpiL|Ct,
Z=04: Jill
0O{: enjoyed

w
>

=012l enjoyed= SHOE Q5= SAIRIH|, SHE SHAIRE FE £k JUSLICH 2N, staying
with Liz= enjoyed?| SH0Z ALSE SHAQILICE

Jn
=IOI=
]
El
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(3)

=AM 7|s mhef

2. SAM7L 2EE 2O EHAE mefgiLnt

3. 0|7t B2 ZExfjst, 1 0|2(2] 2ELA7t RF MAX ACHH ZATZ 0AX|= 12| HEZ 2ol $IX|
511 U= YA =2 CBAIRL 4] 2AIE O|F=X(2| IR E EITILICHET M ol Aotz 2] =0 )
£ AL 2 W FolM Fotz 22| =M A= BAE FHE SASIELIL. Wt 282 017t 5
o EAFS| ofnld F07t £[=7HE QIsFF0{0F ©HLITY). A 2A|7F UCHHE 2A7L SESLICE

[¢ll] 2Att2] 71S

The man carrying the bag is my father.

Hunting for deer, Julian failed in firing his rifle.

Surprised, he noticed the dog’s wagging tail.

Chris saw the march of marines, looking outside the window as crowds cheered on

either side.

w0 D

The man carrying the bag is my father.

FAILE TffgiL|Ct,
ZF0: man
=0:is

HO: father

=012l is7t @75t BE BHQATL LA Q2B 2, carryng the bag2 AR RILICE. manO| carrying

the bag 5t ooz o

oje 0] - 20 2A = &S
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3. =0{: failed

=019 failed’} Q75H= BE 2EIQAL LR} QB2 2 A|ZHE9| Hunting for deer= 2AFRQILICE,
Julian2 #Al8iF 1 =6, JulianO| hunting for deer 5t= ZdolEi |04 F - =0 A HEIe
Ct.

Surprised, he noticed the dog’s wagging tail.

1. ZAIFE mfefeiL|c.

2. F0:he

3. £04: noticed

4. 5H0{: wagging tail

noticed?t Qo= ERQAIL BE Xt JOB 2 2 A|RER | Surprised= SAFLICE heZt

surprised El 20|22, —1‘—%50492 HEAZRELICE wagging tail2 noticeZt SHOE F|§iCH= Mot HEZ
Al

29| 272 Helj2| 20jd F0{2! the dog'sE HIEH L Z SHARYUS & &= USLICH

Chris saw the march of marines, looking outside the window as crowds

cheered on either side.

Z0{: Chris

=0{: saw

w0 D

2X0: march of marines

sawZt @715t E8RAZI BE Xt ez, 2% OFX|2Hof| |X|§t looking outside the window as
crowds cheered on either side= EAMTLILICE ChrisE 41811 =0, Chris?} looking outside ~
St = A0|EE 55T(looking~)2E Q0|4 0| - 20 ZAE S ES6t JASLICE

Hunting for deer, Julian failed in firing his rifle.

Surprised, he noticed the dog’s wagging tail.
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Chris saw the march of marines, looking outside the window as crowds

cheered on either side.

2| Ml 7EX] 2Are] HElE =014 2 Tf §LICE M S M JEX|2H B 2X|2 X+ S&sHe A
o| YEfO|7| MERILICE A, 2AML7L 2F2| AlE 2IX| 22 2F0| Ltz IR0 =0, ;"U}(comma)ﬁ
22|50 XI5t QUCh= Mol =FHoF BILICE O Hot2 22| =0 2F2| AIZHOo|LE 2 BE20| 2=
EAE 02 elo] 272 FOIE fARILICH WEtM 2F9| F0{2k9| 2of0j2t =0 - &0 EA 0| Bt BA Y
Ef(eS 2 +3)2 2AM7L BHES0{X0F ELICH JEX| 42 42 dangling modifier error”7t 2 4gtL|
Ct.

Julian — Hunting for deer

he — (being) Surprised

Chris — looking

£ Oz A8sta 7| WE0 stte] 20| Eoig o= 3
Pt 280| ot =2 &8 Z|X[2, StLto| EE0| MEHE 4 A= Yo Y=
Z =2

f
151 HESH7| QIsiM Chaat 20| 282 £0{0f 27 &= =20| ESAMTE dst= &0{of 1o

olojd F0f - EFSAt77F ZetE 282 FOILE SHOE 2ojy Fo= 100}71'—f ‘for + YAL/CHHAY
AEfQ| XA (to FYMT)LL 2RA(SYA)E E8510] B2 XFHE == ASLIC.

« AMH - ESARL £01E 223 (have + pp)2= HFI510] AHAO| ZEHE 2Ee| £0{7t Z&st= Al E
Ct oF AlM| OF 2| AlZHS =3 BfLICt.

+ Hi - +=3Ei= Z35h= A0| 7+s FLCh

3.3.4.1 E=3At79| 2joj4 Fof

FSAITE TA5Hs 2RE S0iE Fio| 2Kl 242 95t 012 TR R S, 012 FEARC o
O} Zof2tn KBt to SHAIRLE SBATE 7|20z 270| FOiLt BH| § T2 2YRAS 9
014 Z0|2 BELICE 2AITO| 0lj4 Foj= SAThAOIILICH
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[0l] ZEAL72] 2joj Z0f

I want to eat an apple.

I want you to eat an apple.

It is difficult for us to complete the task.

I was sorry to hear that your father is ill.

Knowing that he was being followed gave Roger the creeps.
Your calling on us just at this time is most inconvenient.
The man carrying the bag is my father.

Hearing a noise, he went outside to see what was happening.

Zo| ZOIE
ESAIR7t XSt S0{E HIEC R PHEX Tl Z10|E 2 oI5| stLte| 2&0| MEE £ = BEe| YEE A
3 = USLICE o] if to YA = AtAIO] ZEtEl 2F2| FOoLE FHORl 242 EHQAE 20| FO =

=
E83510{ st 2019 LIS by BiLICt

I want to eat an apple.

?l 2Z0M to FEAITE O|F = 2EeE 207t =2|H 2= Aje| 2|0|Z 2td5H7| flatiM= &0{9] F0{7t
QBLICE LHE4 wante| M| 10|10, eatl| A= IRILICH &, to REALE 229 —|—01°._| I=ERNEE

0] F=0{= SR5H0{ Ch3at 20| 2b8et £019| o|0|E HYSIAELICE.

HJE_

10

to eat an apple — I eat an apple.

I was sorry to hear that your father is ill.

LHE4A was sorry2| F=H|= 10|11, hear that your father is ill2] FX| = IQILICE, M2t to BHAIRLE 2
o| £0{ IE AHAlQ| o|0|2t FO0|2 S75H0 CHE21F 20| 2HXsH =012 o|0|E etdstAELICY.

to hear that your father is ill — I heard that your father is ill.

It is difficult for us to complete the task.

S [ulle]

ise| FM|= it7} OtL|2h= M2 Hetstil, LIEA AH| 0 to complete the taskO0|0{OF BfL|C JFCHA
to 2™AIL complete9| F0oe 2o2nt27? 2% Uol= complete] =0 &t sliF0{0fF &

=2 =
7h ZHE|0] K| QLICE 0|21 20| to SHAHS +A/02! HE|AT(for us)S HE3HA to &

rIr ]

-|-

PS AT

Ap=2of

oz Hu U
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01 A= A2 o|0fY FOE W2 X|FRLICE for us| us?t complete?| 2|04 =04
C J_|_ o

Aets st s ct

for us to complete the task — We complete the task.
EHM0| M= LURI0| 0| M o|0|2h :0{17F LY, MEFSHT I MO0{K QU= F7F BX[2H A writing
ZE0M o218t M2 ERl MYULICH W8S MR 7|5 Sh= 20| writing2| £!0|7| TZLICE

g B
20| HANTRHE F40IZ AR AT 9|0l FOIZ KTE + UL FH0| EXSHE 0IRE 22 24

LT},

Knowing that he was being followed gave Roger the creeps.

gave?| FX|= Knowing that he was being followedO|X|2t, Knowing that he was being followed?2]
A= L84 Roger(he)2LIC}. M2t SHAL = RogerE 2|04 FO{ 2 SR80 CH21 20| 2tXst =
012 o|o|E 2tdstAELIC.

Knowing that he was being followed — Roger knew that he was being followed.

Calling on us just at this time is most inconvenient.

Calling on us just at this timeOI SYAEM 2Ee| F0| ALS st U=, calling?l 2|0]Y T J&=S
SiE == Q= 0| 2 =0 UX| SELICE WEtM CHEat 20| 40| JSE Sh= AR HEIZ SYAE &

A L—

off elofe FAHE XIFsFAUSLIC

Your calling on us just at this time is most inconvenient.

Your calling on us just at this time — You call on us just at this time.

The man carrying the bag is my father.

£0{2l is7} @15t F0{(man)2t E0(father)?t 25 AKX U= SHYULICE M2EAM, carrying the bag2
SATAEAM HEZ M0 Q1= mang AT JELICE carrying St Q= FHIE man0| 22 AL A2l
O

o
AN
manO| carrying the bag?| 2|0|4 =0 &S s YSLICL EAC| 2|0y Fo{= AT Ao LT

carrying the bag — The man carries the bag.

Hearing a noise, he went outside to see what was happening.

I
=IOI=
]
El
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F AIE 220 ?IxI5t0 A2 22|20 = EAMTYULICE =ALH&0{7H heO|E 2, hearing®| FA|= he
L|Ct

° Mo

Hearing a noise — He heard a noise.

ofgfel A ¢ 2Z2 to tell the truth2| A7 WESHX| 7| 7|& =[0] A7| WE0f| +Fo| HFLICHE
£, spoken EnglishOllX= 1'd S5t HO1Z == JELICE 5HX|EH written English 7| &0 M= to &8
Attel £0{0i| Cist o[0f& =017} 2 E|0f QUX| 42 EEAULICH.

Your best option is to tell the truth.

ofzHet Z0| Fet5HA| % 0{3=0{0F gL |Ct.

You had better tell the truth.

3.3.4.2 TSAIL| AlH|

7t Zoi5k= A1 o1Fe] At HEHS HR4SHOF SIHH, & AMI- o= Z3 siELC.

—

[Cll] ES At AlX|

You seem to lose weight.

You seem to have lost weight.

Seeing photographs of the place, I had no desire to go there.
Having seen photographs of the place, I had no desire to go there.

You seem to lose weight.

You seem to have lost weight.
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T 22 to BEAL| A[H|0|A Xt0|H™E H0{ FLIC to lose weight= 22| 2012t Z2 A|”™2E O[3
sl2H= o|o|lL|Ct. Bt 2tRF O Z HBiSH to have lost weightes 282 £0{ L} st AI™ 0|2l S0
2 Olslistet= WS HEIHE AULICL O|ME ESATL| 2015 ARHOE BT &2 20 £rt gt
Al o|He| A2 o|s5l2H= 310|211 HOOoF BfLICY.

Seeing photographs of the place, I had no desire to go there.
Having seen photographs of the place, I had no desire to go there.

—E—”QI 7|2 AHlE 2t (had)ILICE Seeing photographs of the place= ZH2 AI™(X+74)0| Eo*Efi o|0j

7} ElLIC} Having seen photographs of the place= had no desire to go there 0|0 1 AtXIE

AUCt= 2J0|E EBEt ASLITH.

HAL5HA O[OF7|SHAtH, Xt EF2 =2lX o= 2|7t ASLICH AFEIE 2 &e|7F M7} =|o{oF (2 T2

0il) had no desire to go there® = 7| IERALICL =, = St ALO[o]| A|Zte| XtO|7} -S| EXH5I7| il

20| Z2 AlM|Z OlSH=|X| 25 2E0| 24 E[0{0F &*LIEL
Atete| ChEat 20| "akshA E3sFE A0l =2|H 22 ShEL .

As soon as seeing photographs of the place, I gave up going there.

Jpon
rlo

On seeing photographs of the place, I gave up going there.

3.3.4.3 TS A Ef

ESATE E25] El(voice)= Y ASLICH Ei= F0 - 20{9] 27|E 235t= AO0IEZ, ESAFS
£0{2t ofn|¢e] Fof Zte| FAIE A2 23 Eltts ME LoM= A=ZSLITE 23, ESAL] 2|0|d
FOIE miefstx| Z5tH, ESAtT1el SHHE ElE ®TSHAl X517 ELIC

[oll] ZS A2 EY

I tried to pacify him but he refused to be pacified and went on grumbling.
I remember being lifted by my father for a better view.

Defeated, the monster fled from the relieved fighter.
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ESAIT2| EiE metstr| flsiA= 2|0l 0 1peto] 244 £[0{0F 511, of0|d 02t ESAIF2| 20 7t

S
HEe 2AHE A =OtofF ghLCt.

I tried to pacify him but he refused to be pacified and went on grumbling.

to be pacified2| 2|0|4 F=0{= heQlLICt LS4 he?t pacified =[O X|7|1& HE HODZE £+58O=2 &

HFEASLICE

I remember being lifted by my father for a better view.

ol

remember & Z2 10|11, being lifted by my father for a better view2| 2|0]4 F0{ = |RIL|C}, 17t
remember X2 |7} OFHX[Of| 25 S2{ZEl HO|EE, 52 = HAHGHFUSLICE

r

Defeated, the monster fled from the relieved fighter.

oQ!
|0
Hu
EH
rol

Defeated?| 2|0|4 =0{= the monster0| 11, LHE 4} the monsterZt 22|l 20|22 5

FASLICE
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Key Concept 1. E&2| E&
Key Concept 2. 2| F9|

Key Concept 3. 3&E2| 7|s

3.4.1 TEAQL Bl 2
3.4.1.1 282 ER

= 7l o|&e| EFE(simple sentence)’t Y& &[0 StLIS| 2E0| =™ H&AKconjunction)?| =& 2o}
OF BfLICE O i AME == H&ALS] FF0| M2t £ BXHOR BHS0X|= 282 3771 29 ELCh

+  &&(compound sentence) - 8¢1&&AHcoordinating conjunction, For, And, Nor, But, Or, Yet,

809|' semi-colon)0f| 2[aiA| & 7l O]&2| tHE0| AZAL[K RS0 XI 222 202t K& L C
«  HE(complex sentence) - & 7l O|&2| 20| Z3£F &AM (subordinating conjunction)of| 2|aiA 12
Z|o 2HE0{XI 2EE 5202t X|FFL|Ct.
Z(compound-complex sentence) - Ml 7if 0|&2| £H20[ 5t 71 0| &2| ST LAt &t 71 O|&e &

=
LS| 2fsiM HZ2E 2EHE EE0[2t X[FFLIC.

Aol fai A 1Sl RS £|F EEOM ‘E(clause)’Ol2ts 80 Z X|& ElLICt 29| Ao 2fsiA
HoZ IS0 X|= 28 (sentence)t L=517| I8t SO{ILICE.

o>| JF)

ﬁ

[¢ll] & 7 ol&f2| THEO] LAt 2fs 12 £|of THSO0T 282 S/

Recently the population of Kirkland has grown, and our traffic problems have also
grown.

Folktales are always popular; you have probably heard many of them.

Gregor often composes music for poems that he likes.

My boss left early because he felt ill, and now I must close the store by myself.

Recently the population of Kirkland has grown, and our traffic problems have also

grown.
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Recently the population of Kirkland has grown.

Our traffic problems have also grown.

Folktales are always popular; you have probably heard many of them.

HEAE ;5 (047|1ME so2] 2|Of)

X .20
2|ZHo2 BE0lTl 2Y0| £7: B2

Folktales are always popular.

You have probably heard many of them.

Gregor often composes music for poems that he likes.

H&ALE that

5ZHOZ TIS0fT 230l 5

oz

[ T =

=

Ho

Gregor often composes music for poems.

Gregor likes poems. (22 He likes poems.)

My boss left early because he felt ill, and now I must close the store by myself.

H&Al because, and

FEHoZ HE0Zl 2He EF: EE
AZE M =&

My boss left early.

He felt ill.

Now I must close the store by myself.

ssfstm

of
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3.4.1.2 Ze| Ee

Ho| He| mfet2 oEX| FELICh THE0| HEA| ofsiA A2 E|of UHS0X|= 20| S2, 5& L E=20/|2
=, Eé tE 2’0l 2 th30f| fIXIgtChs M= ufotstn, HEAL Fof| XIS ‘F0] + s 20" 122 5t

Lio| ® 2oz mjoksiH EL|C},

'I'ID

S22 Ys5te Z2te| THE2 stLte| IZH%’“(independent c:Iause)E —_r“g?:.”-l C. (&= LHES MSsts)
= 8 & Msubordinating
conjunction)ol| AZE H2 B4 a‘!(subordlnatlng cIause)OIEf_' J(l"I H'_ CH2 2 FH (main clause)
2t X[ gL ch

[oil] Z2| &2l

Recently the population of Kirkland has grown, and our traffic problems have also
grown.

Folktales are always popular; you have probably heard many of them.

Gregor often composes music for poems that he likes.

My boss left early because he felt ill, and now I must close the store by myself.

Recently the population of Kirkland has grown, and our traffic problems have also

grown.

H&ALE and

‘Recently the population of Kirkland has grown’

‘our traffic problems have also grown’

Folktales are always popular; you have probably heard many of them.
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Ey =
S

fjo

2t Ho| He:
‘Folktales are always popular’

rr

g5t
‘you have probably heard many of them'

Gregor often composes music for poems that he likes

HEAL that
EBHOE UHE0Zl 2o EF: =&
SE2= +Hst= 2 Eol ¥l
‘Gregor often composes music for poems’
‘he likes’
My boss left early because he felt ill, and now I must close the store by myself.
H&AL because, and
ABHoZ HE0T 2Ye EF: EF
222 *Hot= 2 Bo |Eel:
‘My boss left early’
‘he felt ill’
‘now I must close the store by myself’
NN L
3.4.2 35H 7|s
ELE2 B2 0|1 HEAR| SR MEHM 7150] 2F ELICH
CHEXQl &
YAPE that, what, whether, if S
A who, which, that (Z-AICHZEA
st

n
o
N
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BHALE because, since, after, although S

[¢ll] AL 7SS +dst=

Op

A
==

What you know is correct.

That the game lasted so long surprised both teams.

The weather forecaster predicts that tomorrow will be sunny.
I don’t know whether he will come on Friday.

Your seat assignment depends on when you arrive.

ZETSAL that (BAFES ot

rr
O

£EAAN

SETEAL that (BAES BEE SHTEEM)

I don’t know whether he will come on Friday.

I
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SETSAL whether (BAES HEE SETEA)

Your seat assignment depends on when you arrive.

SETSAL when (AR S TIEE ZSEFEA)
SEHEA + B5E: when you arrive

7|5 ML 28

[ol] &EAL 7S

jo

2
=

2Hsls Z2%

rir
OF

He wrote a short piece that the city orchestra will play in its next program.
Mozart, whose work my friend greatly admires, began composting as a young child.

A friend of mine who attends a music academy is very talented.
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A friend of mine who attends a music academy is very talented.

O

S &AL who (RHAICHEA

O

FAVN
=]

1

At + Z4E: who attends a music academy

MM friend

1

[ol] $AL 7158 Sasts S4

You painted a prettier picture than I did.
I liked the actress who play the villain, though her part was small.

Because Dave loves mysteries, he probably saw this film earlier than I saw.

RAPES BIEL SATAAE TISHD, RAREO| £ATHY0IS Dot 20| el #iy SHelH|, HARY
of £AIThyOlE 84 FRe] @OfRILICt

I liked the actress who play the villain, though her part was small.

ZLEFEAL though
LB+ 55H: though her part was small

AU0]: liked

Because Dave loves mysteries, he probably saw this film earlier than I saw.

Z&X &AL because, than
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3.4.3 HEAIL] 4=t

informal &t E3 =2 spoken EnglishOl|lA= SEEE 0|11 SEHSATE Y0 23572 §HLICH
3t run-on sentence errordl| SiESHCH EHEHE M= MERE MEAT SHOZ AR E[= that ZO|LE S
A HACHHEA whichQI7tE HA HHHEM L. & 0= M2kt M= ARE USLICH AE2 Yerst
X| eb= AULICE,

[Cll] BAFRE THEE= thate] W

Everybody says time travel is impossible.
The police officer claimed the car had been speeding.

We hope you will get well soon.

= JHe| 2xRt0| AFHE|0] QT MAALZL M0 QI T2 run-on sentence errorZ2 EQIL|C}H 51X|0t 2
SEMSAE ek 7| gL 22, MefstX| 810 Mof == 0| AEL|Ct,

Everybody says that time travel is impossible.

The police officer claimed the car had been speeding.

claimed?| 2H0 A&2 dliF= that 22| thatO| MeF £|}ASLICE

The police officer claimed that the car had been speeding.

[oll] 2IAIEE o|1= ZAICHBAS] =
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The library didn’t have the book I wanted.

Was the man you spoke to just now a friend of yours?

The library didn’t have the book I wanted.

T oHel 2E0| 2 =|o] U=, HEAE U2 SEfILIC LHE4 | wanted7} book=S +Al5F1 ASL
Ct. ekM bookt | wanted ALO|Of| ZIAICHEALZ L M2k £[QICt EHEFSE 4~ QIS L|CH,

o| AILHE A= HEkstn &7| gLict 012t EO17P ZAE et JEHE Ot A7| WZ 0 2HACHY
o

Was the man you spoke to just now a friend of yours?

you spoke to just now= mang $4l5t= 20|, A CHEA whomO| A2f Z|UCHT EHEHSE 4 Ql&
L|C}.
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Key Concept 1. At S2 HX[AML7L ZEHE 2%2| dangling modifier error
Key Concept 2. 712 Ho| HEHIX

Key Concept 3. 34X 2 &&st= mood

Key Concept 4. SHENZ AtE &= 712t &

3.5.1 71 R0 ofst 223 olF= =4 AR 1l - 715 Zeet ZF0

A wdst= dangling modifier error

S| AIZHEo|| X[t EAMLE XA E 22| F0{ete| ZA0|l M dangling modifier errorE E5tA &
o

[0ll] 2Att7t dangling modifierQ! 22

Tired of my lateness, the note was written and handed in.
Heartbroken, the amusement park had to close for repairs.

Small but expensive, Jana was reluctant to buy.

HFYLIC 07| =Al3ECH= 2
AL FOo|A ALl SEE =

UIE —TLXPE*.QE QIDI{SP F0 - =0 2A
Ch= 2fo] Lot

Tired of my lateness, the note was written and handed in.

=2|X 2= note?} tired of my lateness & &= §1&LICE. [L2tA Tired of my lateness= $AICHA0{7} §l=
SEHO|2 2 dangling modifier error@iL|Ct. 1} 20| =7 silE 4= AUSLIC

Tired of my lateness, my teacher demanded to see an excuse note.

Heartbroken, the amusement park had to close for repairs.
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=2|H 2= amusement park?} heartbroken & =7} gl5LICH F4=0]| 6{EA|? dangling modifier

errorL|Ct. LS 20| +F siE 5 ASLICE

Heartbroken, the children learned that the amusement part had to close for

repairs.

Small but expensive, Jana was reluctant to buy.

beingO| M=FEl SE{O| EAtTV} 2 ¢ 2Hof| | XIFHSLICH Jana?t (being) small but expensive StCH=
Z10| =2|X o2 SkX| tE&L|Ct 232, (being) small but expensive= dangling modifieriL|Ct, CtS1t 2

Small but expensive, the house wasn’t right for Jana.

[6il] M X|AI7t dangling modifierQ! A<

After reading the great new book, the movie based on it is sure to be exciting.
With one last look at the room, the door closed.

The car’s engine finally worked by fixing the transmission.

r
N
N
Of
1M
mn
~
Rl
ol
]
[0 R

o, of angling modifier error7} & efL|Ct EESH 27 T 2ol |X[&H X|AME

Ofoll F7kai9l HHE RIBSH=G UOIM =2/HQl Zato| s HR0E F0jo)

=
T
235H= dangling modifier errorZt &A4EHL|C}

After reading the great new book, the movie based on it is sure to be exciting.

=2/ 22 movie?l reading the great new bookS & 4= QI&LICE [2tA, After reading the great

new book0il F71HQl YEE & 4 gl= dYLCH TSt 20| +8Y =+ ASLIC.

After reading the great new book, Liz thought the movie based on it was sure

to be exciting.
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With one last look at the room, the door closed.

door?} look & 4= 91X|Q. dangling modifier erroriL|C}. Of2{iQ} ZH0| =&t 4= Q&L|LCt.

With one last look at the room, my dad closed the door.

The car’s engine finally worked by fixing the transmission.

engineO| fixing & &= RASLICt &, fixing...2| 2|0l 07t 27 LHo| =&t =|0f UqX| gd5LIC 2=, by

Cf.
fixing the transmission0| =AlsilE = Ql= CHA0| §l= M ULICE Dangling modifier errordL|Ct. Oz}

2ol £3% + ABLICH

By fixing the transmission, my sister finally got the car’s engine to work.

3.5.2 AL x2| oot Il - HE chyel 3 52 H CF7|

3.5.2.1 77+ W ciaol He

[o] 27} 8 charel 9

After all, travel is a great way to bond with others and to learn about the world.

My friends had decided to go to college on the other side of the country, join an
environmental group to save the rainforest, or work for their parents in the family

business, which was what I was doing in the same town I’d lived in all my life.

It was like standing on a bridge that must be crossed, leaving behind the carefree
days of youth and stepped into a life of responsibilities, business meetings and

paying bills.
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andE ArE3510{ T 7H2| to REATE HEZ IZE ZERULICEL to FEAILZ 2HA YEIE 27| 2SAUS

LICt 2EH Qe S CiEA ¢f ofelie| 282 £ ollYLICt

After all, travel is a great way to bond with others and learning about the world. (X)

My friends had decided to go to college on the other side of the country, to join an
environmental group to save the rainforest, or to work for their parents in the

family business, which was what I was doing in the same town I'd lived in all my life.

orE ALE310{ M| 72| to RHALTE HER 12 diz2 2T LIL.

It was like standing on a bridge that must be crossed, leaving behind the carefree
days of youth and stepped into a life of responsibilities, business meetings and bills.

HX|A} like2t ZEHE M| 71| SHAIR7I HEZ A (0] QELICE W2tA, OFEK|2f stepped intos= SHALT
2 Ch31} 20| &% &|0{OF &hL|Ch.

It was like standing on a bridge that must be crossed, leaving behind the carefree

days of youth and stepping into a life of responsibilities, business meetings and
bills.

SHAITQ! ‘stepping into a life of responsibilities, business meetings and bills’ 2t M= of CHZ0]| Al
7he| HAKresponsibilities, business meetings and bills)7t WE 2 ¢4 £|0] QIS2 & = JUSLICL

3.5.2.2 Zo| B ljgdel B2
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Just as most politicians come from a law background, biology is the background of

most doctors.

I like movies that make me cry, that make me laugh, and that make me think.

Just as most politicians come from a law background, so biology is the background

of most doctors.

L4 A2E LAl just as ~ so0ll 2|sifA| AZE|0{0F BFLICE. just as A so BOIA At B= HETEE O
=0, Ho| HE=Z AL QlELICt.

I like movies that make me cry, that make me laugh, and that make me think.

moviesE A5t that 2HAIE M| 7H7t HHEZ AZE[RASLICE

=l
Xl

3.5.2.3 W riarol 7o

oo
n

ZH

rir
0x
rio

HXIATLE to FFATHEE Y 42 SSE7| hEo W2k 220 thgh Fo|7t 2 FtL|ct.

[oll] 3 chatel MX|AF72t to S -AMLO|A F=2lsHof & Y=k

A handshake is for friendship or frankness.
I did it for myself and ease.

I like to dance, to sing and to groove.

A handshake is for friendship or frankness.
I did it for myself and ease.

I like to dance, to sing and to groove.

A handshake is for friendship or for frankness.
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X|AtQ! for friendship2t for franknessE HE = AZNF/USLICE F HX[ALT0] SSE fore F HR
HE Yol M= d2rst 2Lt

I did it for myself and ease. (X)
I did it for myself and with ease. (O)

| did it for myself and with ease.2 E$E|0{OF §HL|C},

() B5E 22

rjo
o

2 W Z=0{0F LY.

I like to dance, to sing and to groove. (O)

I like to dance, sing and groove. (O)

T 42c ZEHHCZ EXVL iUt &35, & i EY0ME 38X ZetEl toE W X
I:|I_|- A

(=} —
H7|8 S0, LIOIK| 5 740 W cholAls MRRISLICL SHXIE Of2fiet 22 Ao B

I like to dance, sing and to groove. (X)

3.5.2.4 W x| s|M
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HETEE M= tefstA| ZotH s =Xt HCH=2 e 4= QlgLich 3T
2SI LS M| 7kX| HE F2[3H0F BiLICE,

- HHEPXO| SHIZ et
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A handshake is for friendship or frankness.
I like to dance, to sing and to groove.

I like movies that make me cry, that make me laugh, and that make me think.

Q| 2X0| HEHITXE E§Hst 1, for friendship or for franknessOllA| 2EE! for7t M2F E|QICH= AFAL
2 2LOIX| 251H, 'or frankness’E O|&5HA| siiA & 7Hs40| ——'—IEf for friendship or (for) frankness
= F e FRAIHE R AE B A2 M =012 isE AT QISLICH

I like to dance, to sing and to groove.

Ml 712l to BYAT7 HRZ AZE0 T, BF likeQ| SH0] 7SS —’F%o”?ilif% A S ThefstX| R5HH =
HH to RYAMT S=RE M S 0|5 & 7H5d0| o =SLICt. AT = 2F like2| =
HO{Z M8 =2 ASLICH

:
N
A
—
I
oA

I like movies that make me cry, that make me laugh, and that make me think.

M| 72| that 2tA|E0| HEHEZ AZAL[0 QICH= AHAS YOFRHX| Z5HH, that make me laugh®t that make
me thinkE 0| &5t sliAfet 75 40| =5LICH HEE GZE M 2AREE2 25 moviesE AT Y&

LT},

3 £0{7t HIEA| MISslo st B2 11 -

Bo|2tn 22| HEE 20{2 ooH)H E?_ IL|Ct, XM (indicative mood)= HMEE|= LHE0]| E(true)
A ESELICE subjunctive mood= HEE[= LIEO| 7t (possibility)O|LE 22 (wish) =2 7+
(hypothesis)dl| 7|HtE & AUS LfEfL”LIEf FYE(GIE S0IM, If | were a president, | wouldn’t put up
with it.)2 subjunctive mood?| &t of|IL|Ct. B (imperative mood)= @& (command)2| 2|02 ME
2LICk

£73]| subjunctive mood= Z4E S 0/&35101 mood E8 S $iCh= Hol| ==& 27t JELICH

[6ll] subjunctive mood
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I wish I were there to have a drink with you.
She demanded that he leave the hospital premises.
If I were a bird, I would fly to you.

subjunctive moodE S4E2| =25 #O0MM E3 FLC}

I wish I were there to have a drink with vou.

that 22| 0] Eefol| =Z 7t ASLICH | wishet that HO| &0 HENT} 7HEHlS d FCh= Fo

L|C}. implied obligationg E8& = that 2| 20
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3.5.4 SHEOEZE A8 E|l= ESAH

SH0et SHENE 275ts AV 02 MELIUE M, SHEO0o| £t el 7t /X[H0F 5t B
7t ASLIL TS F 74K 2|0 F==3HOF BiLTt.

[o] SHEO0|Z ABE AT

The mayor declared today a holiday.
Critics and audiences found the play witty and delightful.
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My mother made me clean the room.
I let him repair my watch.

I had him repair my watch.

I helped him to develop his own business.

I helped him develop his own business.

I asked him to do the laundry.

I got him to repair my watch.

I saw the rabbit jumping over the fence.
I saw the rabbit jump over the fence.

I felt someone touching my back.

Zo| ZOIE

SA B0z 202 A E[US I SH0Qt SHENE EF Q4lste AS0| A=, SHENE HAFE2
HBAIS 275I7{Lt ZEAITE 7sts A7t UBLICH CHFst 2Tl Helo| 2xE07I 28 5o,
DUECHE £0|2 AFRE SAl e SX=0jo| ZH0| HX| F2a{0F Bhict

[1] BAILE BAL SXE0|Z ALS Bl 29

The mayor declared today a holiday.

declare’t ‘"~ ~2= MH3ICH AFSICPO| oi|= A8 & H2, SH0et SHE0E 2F 2= §iLCt.
SHE0 2 AT ALE EIUZ0l| F=3H0F JLIC

i

Critics and audiences found the play witty and delightful.

findT S0t SHEOE 25 273D, SHEZ ¥

oo

AMZEAME EIELICE
[2] ESA7t SHEOE M8 &= 32

My mother made me clean the room.

I let him repair my watch.

I had him repair my watch.
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AOISAR B2I2E SAE 2012 ALS S5 UYL SHH|Z B8 FLICL ZENTIL S
2 282 0f, Sof - SFE0] AO|of 20l Fof - 20 27 7 BLICH Wty 0] 2 Hr%efz

=479 Efvoice)S ZHE 4 2L0{of BLICE 9| Al 0l29| Xof= =2ojo| ofnjy o S & 4
21Dz, SSHO| AYLHATIF A EIS0l FSaHoF BLCt,

I helped him to develop his own business.

I helped him develop his own business.

help= SXE0Z to £YAIT E2 FYEYAITE FE £ JELICHL 22 2 I SHENE to EHATE
AMEMCHHA XSO 2 to EYAITE AtEdliFE= A= Yk(consistency) =|AH| AF2sHOF SHoH= Mof| 2

===

SHOF hLct.

0z

I asked him to do the laundry.
I got him to repair my watch.

SHHO = to FHAIE F5t= SAMS| of|2LICt.

I saw the rabbit jumping over the fence.

I saw the rabbit jump over the fence.

I felt someone touching my back.

SHEHOZ HYRFMT =2 2MFE Fsts SAte| oLICt = 2| 0l SHLIE AMESi: 2|7 SXI T,
|35t QUO{OF LICH BMBAIT = RARFHAL} EHE| T 2|
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